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BRFE

X4 Sipuk SR BN
(RBF)
RRX BrEERTHET /8= b 10 44 A3
X BErERTET /<= 44 A3
RRX BRETT7 /= k 4 45 A3
X BARETE 2 78— b 10 50 A2
RRX frEERTET /= b 1 52 A2
HBX EMMmIET B 7 /8= b 1 40 A3
BX CATE7/¢—+t 1 45 A3
HBX CHTET /=t 2 46 A3
BX ZEIET BT /= b 38 45 A3
BX ZORIMTEE 278~ F 7 46 A3
BX BEMNTET /= 2 49 A2
BX BEETET/$— b 3 48 A3
BX BEMUTET /= 4 50 A2
FEX FiunAg 78—k 4 46 A3
| X FilinAa v 78—+ 5 44 A3
FEX FiunAg 78—k 6 43 A3
HEX FlinAa 78—+ 6 44 A3
| Fiu/nAy 78—k 7 43 A3
| X FiunAay 78—k 8 43 A3
FEX FiunAg 78—k 8 44 A3
| X FlinAa 78—+ 9 44 A3
FEX FiunAg 78—k 11 51 A2
X BNy 78—k 12 44 A3
FEX FiunAg 78—k 13 44 A3
X BNy 78—k 14 44 A3
FEX Fiu/nAy 78—k 15 44 A3
| X FiunAay 78—k 16 43 A3
FEX FiunAg 78—k 16 51 A2
FEX Fii/nA Y 78— h 17 44 A3
FEX FiumnAg 78—k 18 45 A3
| X FilunAay 78—k 19 5 43 A3
FEX FiumnAg 78—k 20 5 44 A3
X FilunAay 78—k 20 5 47 A3
FEX FiumnAg 78—k 21 5 44 A3
| X FilunAay 78—k 21 5 46 A3
FEX FiumnAg 78—k 22 5 44 A3
| X FilunAay 78—k 22 5 46 A3
FEX FiunAg 78—k 23 5 46 A3
X FilunAay 78—k 24 5 47 A3
FEX FiumnAg 78—k 26 5 44 A3
| X FiunAay 78—k 28 14 48 A2
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X4 H# 4 SR B EEZ > 7
(RBF)
FEX FLlu/nNAy 78—k 29 5 45 A3
EX FlunNAy 7= 30 14 45 A3
FEX FlunNA Yy T7/R8— b 31 5 44 A3
| Fiu/nAy 78—k 32 5 43 A3
FEX FlunNA Y78 — b 32 5 44 A3
EX FlnNAY 78— 34 12 44 A3
B Filina 78—+ 35 14 47 A3
HEX FARART 73— b 2 5 40 A3
FEX FARART 78— | 3 5 41 A3
HEX FARART 73— | 4 5 42 A2
FEX FARART 78— | 4 5 43 A2
FEX TEEET 77 /83— k 2 5 39 Bl
FEX RIEF T /83— k 1 4 41 A3
EX RIEFT/8— b 2 5 39 A3
FEX RIEFT7 /83— b 3 5 41 A3
HEX BB /= F 1 14 44 A3
HEX BfAT7 /= b 2 9 44 A3
EX FRETE 2 7/8— 1 3 46 A2
HEX BAABR—TBET7/X— 1 10 46 A2
FEX BAAARET B7/3— b 1 10 46 A2
XRX B2KET /= b 2 5 40 A3
XREX AB—TET7/3—F 15 14 46 A2
BEK TH—TB7/¥—*F 1-2-10 11 43 A3
BERKX WEATHET/S— | 11 14 45 A3
=HRX X{E—TB7/8—F 13 5 40 A3
2HKX XAE—TRB7/8—h 14 5 40 A3
=HRX X{E—TB7 /8= 15 5 40 A3
2HKX XAE—TRB7 /8= 16 5 40 A3
=HRX X{E—TB7/8—F 17 5 40 A3
2HKX XAE—TRB7/8—h 18 5 40 A3
=HRX X{E—TB7/8—F 19 5 40 A3
2HKX XAE—TRB7/8—h 20 5 40 A3
=HRX X{E—TB7/8—F 21 5 40 A3
2HKX XAE—TRB7/8—h 22 5 40 A3
=HRX X{E—TB7/8—F 23 5 41 A3
2HKX XAE—TRB7/8—h 24 5 41 A3
=HRX X{E—TB7/8—F 25 5 41 A3
2HKX XAE—TRB7 /8= 26 5 41 A3
=HRX X{E—TB7/8—F 27 5 41 A3
2HKX XAE—TRB7/8—h 28 5 41 A3
=HRX X{E—TB7/8—F 29 5 41 A3
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X H# 4 SR B MEEZ 7
(RBF)
=HRX XAE—TB7/8—k 30 5 41 A3
B2AX  |“t—TB7/<— F 31 5 41 A3
AR |XE—TEH7/S—h 32 5 41 A3
FHX XAE—TRB7/8—h 35 12 42 A3
FHK |[E—TE7/S— 36 12 42 A3
EHX X{E—THHE27T7/¢—+} 1 12 47 A2
=HRX NLE=THB7 /%=t 5 5 42 A3
EHKX NL=THBH7/X—=F 6 4 42 A3
BARK ([BEETE7/S— b 1 5 43 A3
EHKX SHMTHET/S—F 2 5 43 A3
=HRX =AMTHE7/Y—+ 3 5 43 A3
E2AX ZRMNTBET7/$— b 4 5 43 A3
2OX  [(BIETE7/<—t 2 14 45 A3
EHKX AE=TH7T/X—=F 1 5 48 A3
EHX IERBMUTET /= 1 13 48 A3
EHKX IR T BT /= b 2 12 43 A3
=HRX ZHRT/N— | 2 13 54 A2
EMRX |@E=ET7/A— k 3 13 54 A2
2R S 78— 4 13 54 A2
EMRX |@E=E7/— k 5 13 54 A2
EAX S 7 /98— b 6 13 54 A2
EMRX |@E=ET7/A— k 7 13 53 A2
AKX S5 /8— k 8 13 53 A2
=HKX HEEHET/N— k 9 13 53 A2
EAX S 78— k 15 13 52 A2
=HKX HEEHET/N— k 16 13 52 A2
£AK SEEE 78— h 17 13 50 A2
=HKX HEEHET/N— k 18 13 50 A2
EHX NEETE7T/8—F 1 14 51 A2
EHKX SEMT BT /85— b 1 5 54 A3
IERX RKEMMTEHT/S—F 1 5 51 A3
TERX AEMTEHT/S—h 2 12 50 A2
IERX RKEMMTEHT/S—F 2 12 54 A2
TERKX AKEATBEE2T7/8—F 1 5 45 A3
TEX RKERATBEE27T/8—F 2 5 45 A3
TERKX AKEATBEE2T7/8—F 3 5 45 A3
TERX KEATHE2T7/X— 4 5 45 A3
TERKX AKEATBEE2T7/8—F 5 5 42 A3
TEX KERTBE2T7/X—F 6 b5 42 A3
TERKX AKEATBEE2T7/8—F 7 5 42 A3
TEX KERTBE2T7/X—F 8 b5 42 A3




RREE

X4 Sipuk SR Pk WE%EZ > 7
(RBF)
IEX AKEATHE2T7/8—F 9 5 42 A3
TEKX KERATHE2T7/3X—F 10 5 43 A3
IERX AKEATHE2T7/8—+ 11 5 43 A3
TEHKX KERATHE2T7/8X—F 12 5 43 A3
IEX AKEATHE2T7/8—+ 13 5 43 A3
TEHKX MBS FH KRBT T 78— K 1 6 40 A3
IEX M F KRBT T 78— K 2 6 41 A3
TEHKX MBS FH KRBT T /78— K 3 6 40 A3
IEX M F KRBT 77 /8— K 4 6 42 A3
TEKX ?ﬁﬁ%— B7/8— b 5 12 44 A3
IEX mM=TB7/¢—F 1 5 42 A3
TEHKX EM=TH7/{\—F} 2 5 43 A3
IEX mM=TB7/¢—F 3 5 43 A3
TEHKX EM=TH7/{\—F} 11 5 42 A3
IEX mM=TB7/¢—F 12 5 42 A3
TEHKX EM=TH7/{\—F} 13 5 42 A3
IEX mM=TB7/¢—F 14 5 42 A3
TEHKX 1) II—TE A 1 11 47 A2
IEX BFETH7/¢—F 1 5 42 A3
TEHKX BFETEH7/¢—+ 2 5 42 A3
IEX BFETE7/¢—F 3 5 42 A3
TEHKX BFETE7/¢— 9 5 45 A3
IEX BFETH7/¢—F 10 5 45 A3
TEHKX BFtTH7/S—F 11 5 45 A3
TERX BRFtTE7T/S—F 12 12 47 A2
TEHKX BFETHE2T7/X—}F 4 5 50 A2
IEX BIN=TEB7/¢—+h 1 11 49 A2
TEHKX KIN=ZTB7/¢—h 6 5 49 A2
IEX ?ﬁﬁ/— TN— b 1 5 44 A3
TEHKX BW—THT/{—F 2 5 44 A3
IEX BW—TH7T/¢—+} 3 5 44 A3
TEHKX HW—THE7T /<=t 4 5 44 A3
IEX BW—THE27T7/¢—+} 2 5 48 A2
TEHKX BW—THBHE27/¢—+ 3 5 48 A2
IEX EW—THEZE27/¢— 3 5 49 A2
TEHKX RWANTBEE27/8—+ 1 6 45 A3
TERX BWHATHE2 7/¢—+ 2 5 44 A3
TEHKX RWANTBEE27/8—+ 3 5 44 A3
TERX BWHATHE2 7/¢—+ 4 5 44 A3
TEHKX RWNTEBE27/8—+ 5 5 43 A3
IEX BWHATHEE2 7/8—+ 6 5 43 A3




BRFE

X ekt SR B %4 e >~
(RBFD)
IEREX RWATHEHZE27/8—Fh 7 5 43 A3
STERX HWATHEE27/8—F 8 5 44 A3
IEREX RWATHEHZE27/8—Fh 9 5 45 A3
STERX BFEATET/S—F 1 4 41 A3
TERX BREANTET/S—F 3 5 41 A2
STERX RE—=TH7/X—+ 27 5 42 A3
IEREX RE—=TH7/Y—=+ 28 5 42 A3
STERX RE—=TH7/X—+ 29 5 42 A2
IEREX RE—=TH7/X=+ 30 5 42 A3
STERX RE—=TH7/X—+ 31 5 42 A3
IR RE—=TH7/Y—=+ 36 5 42 A3
STERX RE—=TH7/X—+ 38 5 42 A2
IEREX RE—=TH7/X—=+ 39 5 42 A2
STERX RE—=TH7/X—+ 40 5 42 A3
IR RE—=TH7/Y—=+ 44 5 42 A3
STERX RE—=TH7/X—+ 45 5 42 A3
IEREX RE—=TH7/X—=+ 46 5 42 A3
STERX RE—=TH7/X—+ 47 5 42 A3
IR RE—=TH7/Y—=+ 48 5 42 A3
STERX RE—=TH7/X—+ 50 5 42 A3
IEREX RE—=TH7/Y—=+ 52 5 42 A3
STERX RE—=TH7/X—+ 53 5 42 A3
IR RE—=TH7/Y—=+ 54 5 42 A2
STERX RE—=TH7/X—+ 55 5 42 A2
IEREX RE—=TH7/Y—=+ 56 5 42 A3
STERX RE—=TH7/X—+ 57 5 42 A3
IR RE—=TH7/Y—=+ 58 5 42 A3
STERX RE—=TH7/X—+ 59 5 42 A3
IEREX RE—=TH7/Y—=+ 60 5 42 A3
STERX RE—=TH7/X—+ 61 5 42 A3
IEREX RE—=TH7/Y—=+ 62 5 42 A3
STERX RE—=TH7/X—+ 63 5 42 A3
IEREX RE—=TH7/Y—=+ 64 5 42 A3
STERX RE—=TH7/X—+ 66 5 42 A3
IEREX RE—=TH7/Y—=+ 67 5 42 A3
STERX RE—=TH7/X—+ 68 5 42 A3
IEREX RE—=TH7/Y—=+ 69 5 42 A3
STERX RE—=TH7/X—+ 70 5 42 A3
IEREX RE—=TH7/Y—=+ 71 5 42 A3
STERX RE—=TH7/X—+ 72 5 42 A2
IEREX RE—=TH7/Y=+ 73 5 42 A3




BRFE

X ekt SR B %4 e >~
(RBFD)
IEREX RE—=TH7/X=+ 74 5 42 A2
STERX RE—=TH7/X—+ 75 5 42 A3
IEREX RE—=TH7/X=+ 76 5 42 A3
STERX RE—=TH7/X—+ 7 5 42 A3
IEREX RE—=TH7/Y—=+ 78 5 42 A3
STERX RE—=TH7/X—+ 79 5 42 A3
IEREX RE—=TH7/Y—=+ 80 4 44 A3
STERX RE—=TH7/X—+ 85 5 42 A3
IEREX RE—=TH7/X=+ 86 12 43 A3
STERX RE—=TH7/X—+ 87 5 42 A3
IR RE—=TH7/Y—=+ 88 5 42 A3
STERX RE—=TH7/X—+ 89 5 42 A3
IEREX RE—=TH7/X—=+ 90 5 42 A3
STERX HWETHT/S—Fh 5 5 42 A3
TREK RMETBE7/S— 1 6 5 42 A3
STERX HWETHT/S—Fh 7 5 42 A3
IEREX HWETHET/S—F 8 5 42 A3
STERX HWETHT/S—Fh 9 5 42 A3
IR RWETHEHT/S—Fh 10 5 42 A3
STERX HWETHT/S—Fh 11 5 42 A3
IEREX RWETHEHT/S—Fh 35 8 50 A3
STERX HWETHT/S—Fh 36 3 50 A2
IR RWETHE27/8—F 3 5 50 A2
STERX RENTET /= 1 6 42 A3
IEREX RENTEHT/S—=F 2 6 42 A3
STERX RENTET /= 3 6 44 A3
IR BEZTHT/S—F 1 5 42 A3
STERX BEZTHY/S—F 2 5 42 A3
IEREX BEZTHT/S—F 3 5 42 A3
STERX BEZTHY/S—F 4 5 42 A3
IEREX EW=THFE27/X—h 1 5 42 A3
STERX BB =TE%27/¢—F} 2 5 42 A3
TERX MM =THE%27/5—F} 3 5 42 A3
STERX BB =TE%27/¢—F} 4 5 42 A3
IEREX EW=THFE27/X—h 5 5 42 A3
STERX BB =TE%27/¢—F} 6 5 42 A3
TERX MM =THE%27/5—F} 7 5 42 A3
STERX RKENTET /8= 1 6 42 A3
IEREX RKENTEHT/S—=F 2 6 42 A3
STERX HfBETEH7/8— b 1 5 43 A3
IEREX RFBETET /8= b 2 5 43 A3




RREE

X4 Sipuk SR Pk WE%EZ > 7
(RBF)
IEX HEUT B 7 /85— b 3 5 44 A3
TEKX HBMTET/8—h 11 5 45 A3
IERX HEUT B 7 /8= b 12 5 45 A3
TEHKX W —TET /<= 1 5 43 A3
IEX EW—THT/¢—} 2 5 43 A3
TEHKX W —TET /<= 3 5 43 A3
IEX W —TET /¢~ 4 5 43 A3
TEHKX W —TET /<= 5 5 43 A3
IEX W —TET /¢~ 6 5 43 A3
TEKX W —TET /<= 7 5 43 A3
IEX EW—THT/¢—+} 8 5 43 A3
TEHKX mMATET/$— 3 5 43 A3
IEX EMATET/$— b 4 5 43 A3
TEHKX mMATET/$— 5 5 43 A3
IEX mMATET/$— b 6 5 43 A3
TEHKX mMATET/$— 9 5 43 A3
IEX EMATET/$— b 10 5 43 A3
TEHKX EWATHET/S—F 12 5 43 A3
IEX EMATET/$— b 13 5 43 A3
TEHKX EWATET/S—F 14 5 43 A3
IEX EMATET/$— b 15 8 43 A3
TEHKX tc@% TE7/S=F 14 11 43 A3
IEX HWZTH7/S—Fh 1 5 43 A3
TEHKX BW_THT/S—F 2 5 43 A3
IEX %E/—TE AS 3 10 43 A3
TEHKX BW_THT/S—F 4 10 43 A3
IEX %E/—TE AS 5 5 43 A3
TEHKX BW_THT/S—F 6 5 43 A3
TERX =g 78— b 7 5 43 A3
TEHKX BW_THT/S—F 8 5 43 A3
TERX %E/_TE 7 /X— b 9 5 43 A3
TERX =g TX— b 11 10 43 A3
IEX %E/—TE AS 12 5 43 A3
TEHKX B ZTHE7T /<=t 13 5 43 A3
IEX ?‘ﬁﬁd\— B7/¢—h 14 5 43 A3
TEHKX BW_THT/S—F 15 5 43 A3
IEX %E/—TE AS 16 5 43 A3
TEHKX BW_THT/S—F 17 5 43 A3
IEX %E/—TE AS 18 5 43 A3
TEHKX BW_THT/S—F 19 5 43 A3
IEX HWZTH7/¢— | 20 5 43 A3




RREE

X4 Sipuk SR Pk WE%EZ > 7
(RBF)
IEX %E/—TE AS 21 12 43 A3
TERX =g TX— b 22 12 43 A3
TERX =<0 TE%’3 A 4 5 44 A3
TEHKX W _THE37/¢—+ 5 5 44 A3
IEX EW_THEHHE3I7/¢—+ 6 5 44 A3
TEHKX W _THE37/¢—+ 7 4 45 A3
TERX RM_TESE3IT7/¢— 8 4 45 A3
TEHKX ?‘ﬁﬁﬁmTE% 2 78—k 16 12 44 A3
IEX HBE=TEB7T/¢—F} 1 14 44 A3
TEKX ?ﬁﬁﬁ— 78— b 2 14 44 A3
TERX BRE—THB7/¢—+} 1 5 44 A3
TEHKX BE—THB7/¢—F} 2 5 44 A3
TERX BRE—THB7/¢—+} 3 14 45 A3
TEHKX BE—THB7/¢—F} 4 5 44 A3
IEX BE-TH7/¢—+} 1 14 45 A3
TEHKX RE-TH7/¢—F} 2 8 44 A3
IEX BE-TH7/¢—+} 4 8 44 A3
TEHKX KENTHE2 /8= 1 5 45 A3
IEX AKENTEBE27T7/8—+ 2 5 45 A3
TEHKX KENTHE2 T7/8—F 3 5 45 A3
IEX AKENTEBE27T7/8—+ 4 5 45 A3
TEHKX KENTHE2 /8= 5 5 45 A3
IEX AKENTEBE27T7/8—+ 6 5 45 A2
TEHKX KENTHE2 T7/8—F 7 5 45 A2
IEX AKENTEBE27T7/8—+ 8 5 45 A3
TEHKX RKENTHE3I /= 20 11 46 A3
TERX mrT B 7 /8= b 1 14 45 A3
TEHKX AT B 7 /8= b 2 14 45 A2
IEX EET B 7 /8= b 17 13 48 A3
TEHKX W—THE2T7/X—F 2 5 46 A3
IEX =-,)I|—T§ AT 15 14 46 A2
TEHKX EY—TH7/N—§ 7 12 46 A3
IEX mM_THE7T/¢—F 1 14 46 A3
TEHKX ﬁa,ﬁ_TE% 2 78—k 28 11 46 A2
IEX BREZTHE27/¢—+} 29 14 46 A2
TEHKX W —THEIT7/X—} 1 14 46 A3
IEX W —THEE3I T/~ 2 14 46 A3
STERX W —THEIT7/X—} 1 14 47 A3
IEX W —THEE3I T/~ 2 14 47 A3
TEHKX BFENTE7T/¢— 2 5 47 A3
IEX mIRT BT /8= b 1 10 48 A3




BRFE

X4 H# 4 SR B EEZ > 7
(RBF)

TERX MmN TBE 7 /85— b 2 10 50 A2
STEHX HA—THB7/8—+t 1 11 50 A2
TEX MMATEE27T7/¢—F 4 5 53 A3/A2
STEHX BE—TBEE27/%—F 4 10 53 A2
TEX BFATHB7/8%—F 2 12 53 A2
STEHX HF=ZTBEHT/S—F 9 14 53 A2/A3
a1 X S OAC 1 5 42 A3
) 11X HRINT /= k 2 5 42 A3
mml 11X B@INE2 78—+ 15 5 43 A3
mm) 11X ERIE2T7/8—=F 16 5 43 A3
/X [Ealll5 2 78— b 17 5 43 A3
mm) 1 [X Bl 78— b 26 7 43 A3
mm) 11X EmEL 78— F 11 14 45 A2
mm) 1 [X E@/ES 78— b 12 14 45 A2
m) 11X HEIIEL T/8—F 13 5 45 A3
mm) 1 [X EWIE3T7/8— b 6 14 45 A3
mm) 11X E@mIE 3 T7/8—+F 11 14 45 A3
an) 11X RARBZTHT/S—F 6 14 48 A2
a1 [X E@IN—=TB7/¢—+ 7 12 54 A2
mm) 1 [X JVBBAET B 7 /%= 1 7 55 A2
mm) 11X AT BT /83— +h 2 14 55 A3
mm) 1 [X JNBATE7 /3= 4 14 55 A3/A2
HEKX MXAARTBET7/¢—h 4 3 53 A2
BEKX HE—THB7/¢—+ 1 5 44 A3
HEKX BE—-TH7/X—+ 2 5 44 A3
BEKX HE—THB7/¢—+ 3 5 44 A3
HEKX HE-TH7/Y—*F 4 5 43 A3
BEKX HE—THB7/¢—+ 5 5 43 A3
p== 18 ABA=THEHE 4 7/X—+ 2 5 53 A3
KHEEX ABA=THEHE 4 T7/X—+ 3 5 54 A3
p== 18 AHA=THEHE6 7/—+ 27 4 54 A2
KHEEX ABZA=THEHEL 7/¢{—+ 1 5 54 A3
KHEEX AKHFA=ZTBHT7/N—F 16 11 44 A2
KHEEX ABA=THEHE2T7/%—+ 1 12 45 A3
p== 18 ABA=THEHE2 7/8—+ 2 5 44 A3
KHEEX ABA=THEHE3IT7/X\—+ 6 3 46 A2
KHEEX R/H—TE7/8—+ 11 5 43 Bl
KHERX EEE—TB7/¢— b 11 5 48 A3
KHEEX BEA—TB7/N— bk 12 5 48 A2
KHERX AEE—T B 7/¢— b 13 3 48 A2
KHEEX PR T B 7 /N— b 1 5 52 A2
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X4 H# 4 SR B WEMEZ > v
(RBFD)
p==18 FNEETET/N— b 2 8 52 A2
KHEEX FEE-_TEB7/{\—F 6 5 54 A3
p== 18 FNEB—THEHT7/N—h 1 5 41 A3
KHEEX AR —TBET7/8N— b+ 2 5 42 A3
p==18 B —THEH7/N—k 3 5 42 A3
KHK AT 8= b 1 5 41 A3
KHEEX T 8= | 2 5 41 A3
KHKX AT 8= b 3 5 41 A3
KHEEX FEPE 2 T7/X— | 1 5 42 A2
KHEEX P2 T /8= b 2 5 42 A2
KHEEX FEPE 2 T/X— | 3 5 42 A3
KEX  [#FFE2T7/8—F 4 5 42 A3
KHEEX FPHEANTB 7 /83— F 1 5 41 A3
KHEEX FIHNT B 7 /89— + 2 5 41 A3
KHEEX APHZTE7/8—+ 10 5 42 Bl
AHKX M —TET7/3—h 1 5 44 A3
KHEEX 7 —TE 78—+ 2 5 43 A3
AHKX M —TET7/3— b 3 5 44 A3
== APH-ZTHEIT7/S—F 2 5 43 A3
KHEEX APIHZTHE3I 7/X—F 3 5 43 A3
== APH-ZTHEIT7/N—F 4 5 43 A3
KHEEX APIHZTHE 3 7/8X—F 5 5 43 A3
KHEEX PBHATE7/X—F 5 5 43 A3
KHEEX FHATHE/S—F 6 5 43 A3
KHEEX PBHATE7/X—F 10 4 43 A3
AHKX FHAETE7/N—F 11 5 43 A3
KHEEX FIHATHE7/S—F 12 5 43 A3
KHEEX KAOZTHB7/¢—+ 15 12 44 A3
KHEEX RXAOZTEB7/X=+ 16 12 44 A3
KHEEX MENRTET/ =+ 2 5 45 A3
KHEEX WMERTBE /3= 3 5 44 A3
KHEEX MENRTET/ =+ 4 5 44 A3
KHEEX WMEATBH7/N—F 2 5 44 A3
KHEEX MERTET/S—+ 3 5 44 A3
KHEEX WMEATBH7/N—F 4 5 45 A3
AHKX BMANTET7/8—h 2 12 46 A2
RHEEX HHANTET/S= 5 5 45 B1
KHEEX EMANRTET7/8—+ 6 5 45 Bl
p== 18 RMBNRTET7/8—=+ 7 12 46 A2
AHKX KHEOA—T BT /8— b 12 12 45 A3
pN==]E BEHAs_—TE7/{\—F 1 5 46 A3




BRFE

X4 H# 4 SR B WEMEZ > v
(RBFD)
KHEEX AT ET/S— b 2 7 46 A3
KHEEX FAMAR_TEE 2 7/8—+ 5 4 48 A3
KHEEX HP—THE7T/¢—F 11 5 46 A3
KEX  [#FE—TEHT7/S—=*F 12 5 46 A3
KHEEX HHE=TH7T7/%—+ 18 7 46 A3
KEX  [#HE=ZTEHT/S—F 20 5 46 A3
pN==]E ME=THT/X\—F 1 3 53 A2
AHKX ThFZTET/I—F 27 14 46 A3
KHEEX mIE—THEE2 7/8—+ 1 9 46 A2
KHEEX myB—TEE27/¢—+ 2 12 47 A3
KHEEX BEAE=TB7/\— 14 13 46 A2
KHEEX APIHZTHZE 4 T7/8X—F 12 5 48 A2
KHEEX APHZTBE 4 7/8—F 12 5 48 A3
KHEEX MEANTET7/$—+ 7 3 48 A2
== MEANTBET7 /8= F 8 4 48 A2
KHEEX AHAUTEE 2 7/8—+ 12 4 52 A2
p==18 ZEN_TBEE2T7/—F 19 4 54 A2
KHEEX ZENZTBEZE27/%—F 21 3 54 A2
p==18 ABE—TEHT/N— b 2 12 54 A2
KHERX KHEE—T BT /= h 3 11 54 A2
p==18 ABE—TEHT/N— b 3 11 54 A3
KHERX KHEE—T BT /= h 6 11 54 A2
p==18 AHmA—TEHE3I7/X—+ 10 5 55 A2
HHAX |BE—TBH7/¢—F| 1 4 47 A2
HHAEX |BE—TBH7/¢—F 3 3 50 A2
HHAX |BE—THBH7/{—F| 4 4 50 A2
HHAX |[KE=TH7/S—+| 1 3 53 A2
HHAX |HKE=TBH7/X—F 2 3 54 A2
HHAX |[KE=TH7/¢—+| 3 3 55 A2
HHEX |/\EL=TE7/¢{—+ 14 3 51 A2
HHAX |JWEL=TBH7/¢—+ 17 3 52 A2
HHEX |/\EL=TE7/¢{—+ 19 3 48 A2
HHAX |JUWEL=TBH7/¢—+ 20 3 52 A2
HHEAX | EABEATET7/S—F 1 3 53 A2
HHAX |EAERTET7/S—F 2 3 53 A2
HHAX |EIIEZTE7/S—F 1 3 55 A2
HHAX |EIIEZTET7/S—F 2 3 55 A2
HHAX |FEZTET7/¢—F 2 3 54 A2
HHAX |[FETZTH7/\—+ 3 3 54 A2
HEHAX |KEZTHBE27/{—F 1 3 52 A2
HHAX |EZTHSE27/8—F 2 3 52 A2
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HHAX |XE=TH7/\—F 14 4 55 A2
HHAX |[EELARTET7/S—*F 1 5 55 A2
HHAX |[ESLARTET7/S—F 2 3 55 A2
HHAX |BL7/8—F 5 5 41 B1
HHAX |BEHRETET /- 1 5 43 A3
HEAX |MBETET/— 1 5 45 A3
HHAX |#EETET /= 2 5 45 A2
HHAX |MEETEY /= 3 5 45 A3
HHAX |#EETET /= 4 5 45 A3
HEAX |MBETET/— 5 5 45 A3
HHEX |ZEATHT/S—F 1 3 45 A2
HHAX |ZEATEHT/IX—F 2 3 45 A2
HHEX |ZEATHT/S—F 3 3 45 A3
HHAX |[RKE—TB7/X—*+ 3 5 46 B1
HHAX |[KE—TB%27/3—+F 5 3 48 A2
HHAX |[RKE—TB%27/3—F 6 3 48 A2
HHAX |[&—TH7/S—F 1 3 47 A2
HHAX |[&—TH7/S—*F 2 3 47 A2
HHAX |[&—TH7/S—F 3 3 48 A2
HHAEX |F4HNRTET7/S—+ 5 3 50 A2
HHAX |F4ARTET/S—F 6 3 50 A2
HHEAX |K—THHFE27/{—F 1 3 50 A2
HHAX |EZ2R-TE7/S—F 1 5 50 A2
HHEAX |E2R-TH7/S—F 2 5 50 A2
HHAX |EZ2R-TE7/S—F 4 5 50 A3
HHEAX |E2R-TH7/S—F 5 5 50 A3
HHAX |EZ2R-TE7/S—F 6 5 50 A2
HHEAX |E2R-TH7/S—F 7 5 50 A2
HHAX |EZ2R-TE7/S—F 8 5 50 A2
HHEAX |E2R-TH7/S—F 9 5 50 A2
HHAX |EZ2R-TE7/S—F 10 5 50 A2
HHEAX |E2R-TH7/S—F 11 5 50 A2
HHAX |EZ2R-TE7/S—F 12 3 50 A2
HHEAX |E2R-TH7/S—F 13 3 50 A2
HHAX |EZ2R-TE7/S—F 14 5 50 A2
HHEX |FR=ZTH7/{— 7 3 50 A2
HHAEX |FR=TBH7/¢—F 10 3 50 A2
HEEX HIRZTHY/X—=+ 10 6 43 A3
EAERX BIRZTH7/8— b 11 6 43 A3
HEEX HIRZTHY/X—F 13 6 42 A3
EAERX BIRZTHT7/8— b 14 6 45 A3
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EARX BIR_ZTHB7T/¢— b 42-9 5 45 A3
EAKX BER_THT/S—Fh 42-9 5 46 A3
AKX WIR_ZTHB7T/¢— b 42-15 5 46 A3
EAX BER_THT /%=t 43-12 6 46 A3
EARX BIR_ZTHB7/¢— b 49-1 6 45 A3
EAX BER_THT/S—Fh 49-1 6 49 A3
AKX BWIR_ZTHB7T/¢— b 49-2 6 45 A3
EAX BER_THT/S—Fh 49-3 6 45 A3
EARX BIR_ZTHB7T/¢— b 49-4 5 49 A3
EAKX s _-_THBE27/{—F 50-8 6 46 B1
AKX ErAZTHBE27T/5—+ 52-1 6 46 A3
EAX s _-_TBE27/{—F 52-2 6 46 A3
EARX ErAZTHBE27T/5—+ 53-8 6 46 B1
EAX s _-_THBE27/\—F 54-1 5 45 A3
AKX ErAZTHBE27T/5—+ 54-2 5 45 A3
EAX s _-_TBE27/{—F 54-3 5 45 A3
HEERX Hra_"_TEE27/{—F 55 6 45 A3
EAX JRERTHET/¢— b 2 14 45 A3/A2
EARX BR=THB7/¢— b 1 4 46 A3
EAX BER=THT/¢—} 2 4 46 A2
AKX EAAREI—THT/¢— b 2 4 48 A3
HEAEX EBRABI—THT/Y— b 3 4 48 A3
EARX EAARE—TE 7 /8= b 5 4 48 A3
REFX MAEMETET/$— 1 3 50 A2
REFX BETHE7 /= 2 3 50 A2
FEFX EPE%EP?& TE7/ Y=+ 10 9 43 A3
REFX ALZTBE7/¢—= 2 3 44 A2
FEFX FEAMATEHT/S— b 1 5 46 A3
REFX REABATE7/8— bk 2 5 46 A3
REFX MERATET/$— 1 5 52 A2
REFX MEAERTHET/¢—F 2 5 52 A3
X W/ ARZTHE7/¢—Fh 10 3 48 A2
X MW/ RKZTBE7/¢—+t 13 3 48 A2
X W/ ARZTHE7/¢—Fh 15 3 48 A2
X MBE—TE7/¢—+t 20 3 48 A2
X ABLATET/¢—+ 10 3 53 A2
X ABLATET/¢— b 12 3 53 A2
X ABLATET/¢— b 26 3 53 A2
X THEZTEE2T7/{—F 24 3 52 A2
X THEZTEHE27T7/5—+ 5 3 52 A2
X FE_TB7T/¢—F 10 4 49 A2
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2 X FE_TBE7/S— 10 4 50 A2
A2t [X ARBZTET/S—+h 8 3 50 A2
2l X ARBZTET/S—h 10 3 49 A2
A2t [X SAFI—TBE7/8— 8 3 53 A2
2 X HE=TBH7/S—} 1 4 48 A3
A2t [X HE=TBH7/X—*F 2 4 48 A3
2 X HE=TBH7/S—} 4 3 48 A2
A2t [X Bl r RAL=T B T7/¥— b 20 4 44 A3
2 X Bl r 8A=T B T7/3— b 25 4 44 A3
A2t [X Bl r RAL=T B 7/¥— b 26 3 45 A2
2l X EOR=TEB7/{—+ 19 14 - 44 A3
A2t [X EHEMTEHT/N— b 1 3 46 A2
2 X EHEMTET/N—F 1 3 47 A2
A2t [X EHEMTHEHT/S— b 2 3 46 A2
2 X EHEMTET/S—F 3 3 46 A2
A2t [X EHEMTEHT/N— b 4 3 46 A2
2 X EHEMTET/N—F 11 3 46 A2
A2t [X EHFRE—TET7/X— 3 5 46 A3
2 X BHFE—TB7/t— 4 5 46 A3
A2t [X EHFRE—TET7/X—h 15 3 46 A2
2 X BREHEZTE7/S— b 1 3 47 A2
A2t [X HE—TB7/8—} 1 3 48 A3
2 X HE—TBE7/S—F 2 3 48 A2
28X %ET TEH7/N—=F 1 5 55 A2
25K WARET=THB7/8—Ft 1 5 49 A3
28X /ﬁl A =TB7/%—k 1 5 49 A2
25K b7/ — b 14 45 A3
25X EpAZT BT /3—F 3 12 52 A2
25K FPAZT BT /S — b 4 14 52 A2
JEIX FE—TBE&E27/8— 1 5 53 A3
JEX FE—TBEE27/8— 2 5 54 A2
JEIX FE—TBE&E27/8— 3 5 54 A2
JEX FE—TBEE27/8— 6 10 51 A2
JEIX FE—TBE&E27/8— 7 10 52 A2
JEX FE—TBEE27/8— 7 10 53 A2
JEIX RPN T BT /8= F 1 5 48 A3
JEX RPN TET /= b 2 5 48 A3
JEIX RPN T BT /8= F 3 8 48 A2/A3
JEX BrE_TE®27/{—F 1 3 51 A2
JEIX BrEZTESE27/{—F 2 3 54 A2
JEX BrE_TE®27/{—F 3 3 54 A2
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bX ArE_TBE27/8—F 10 4 51 A3
LX FREIZTE 7/ —+ 1 5 55 A3
X FEZTB7/8—=F 2 5 55 A3
X FREZTE7/X—F 3 5 55 A3/A2
X FREZTE7/8— 4 5 55 A3
LX FFARET /%= k 15 4 46 A3
bX FFARBTT /8= k 16 10 46 A3
LX EF+ET7/—=+ 4 4 41 A2
bX FFAREIZE 2 7/8— b 1 4 42 A3
LX FFAREIZE 2 7/8— k 2 4 43 A3
X FFAEIE 2 7/8— b 3 4 43 A3
LX FFAREIZE 2 7/8— k 4 4 42 A3
bX FFARETIZE 2 7/8— b ) 4 42 A3
X BMA=ZTEHT/N—F 1 5 42 A3
bX MAR=TH7T/{—F} 2 5 42 A3
LX BMA=ZTEHT/S—F 3 5 43 A3
bX BARA=ZTHT/¢—F 4 12 44 A3
X BMAZTEE27T7/8—F 1 5 43 A3
bX MAR=ZTHE2T7/X—F 2 5 43 A3
LX BMAZTEE27T7/8—F 3 5 43 A3
bX MAR=ZTHE2T7/X— 4 12 43 A3
X BMAZTEE27T7/8—F 5 8 44 A3
bX MAR=ZTHE2T7/X—F 6 7 44 A3
LX BMAZTEE27T7/8—F 7 8 44 A3
bX MAR=ZTHE2T7/X—F 8 5 45 A3
X faftEE 2 7/8— b 1 4 43 A2
X FE{TEE 2 7/8— bk 2 11 45 A3
X i@ﬁ’u:TE /N— b 1 5 42 A3
bX B = TX— k 2 5 42 A3
X i@ﬁ’u_TE /N— b 3 5 42 A3
bX i}:ﬁ)%_TQ /N— k 4 5 42 A2
X EM=TB7/X\—+ 5 5 42 A2
bX i}:ﬁ)%_TQ /N— k 6 5 42 A2
X i@ﬁ’u_TE /N— b 7 5 42 A2
bX BAR=T /N— k 8 5 42 A2
X i@ﬁ’u_TE /N— b 9 5 42 A2
bX i}:ﬁ)%_TQ /N— k 10 5 42 A2
X EM=TB7/X\—+ 11 5 53 A2
X BAMZTEI/X—F 1 5 43 A3
X WM_TEE27/¢—F 2 4 44 A3
bX BMZTBEE2 7/8X— 3 4 44 A3
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JEX FEMZTHEHE2T7/5—F 4 5 44 A3
JEX EMZTESE27/5—+ 5 5 44 A3
JEX JEM=THEHE27/5—F 1 5 42 A3
JEX EM=TBEHE27/3—+F 2 5 42 A3
JEX YEMRPAT B 77 /8— b 1 5 42 A2
JEX YEMPAT B 7 /8— b 2 5 42 A2
JEX YEMRPAT B 77 /83— b 3 5 42 A3
JEX YEMPAT B 7 /8— b 4 5 42 A3
JEX YEMRPAT B 77 /83— b 5 5 42 A3
JEX RPIXZTEE2T7/8— 1 5 43 A3
JEX RPIXZTEE27T7/3— b 2 5 43 A3
JEX RPIXZTEE2T7/8— 3 12 43 A3
JEX FHE= TE%Z T7/N—k 17 5 43 A3
JEX FE=TH®27/{—+} 18 5 44 A3
JEX FEI=THE®27/5—F 19 5 43 A3
JEX FHE=THF27/{—+} 20 5 43 A3
JEX FREI=THE®27/5—F 21 5 43 A3
JEX FE=TH®27/{—+} 21 5 44 A3
JEX FEI=THE®27/5—F 22 5 44 A3
JEX BHIN=TH7/N— 1 5 43 A3
JEX BEIN=THE7/<—+} 2 5 43 A3
JEX BHIN=TH7/N— 3 5 44 A3
JEX BEIN=THE7/<—+} 4 5 44 A3
JEX BHIN=TH7/N— 5 5 44 A3
JEX BEIN=THE7/<—+} 6 5 44 A3
JEX BHIN=TH7/N— 7 5 46 A3
JEX BEIN=THE7/<—+} 8 5 46 A3
JEX BHIN=TH7/N— 9 5 46 A3
JEX BEIN=THE7/<—+} 11 5 46 A3
JEX BHIN=TH7/N— 12 5 46 A3
JEX BEIN=THE7/<—+} 13 8 46 A3
JEX BHIN=TH7/N— 14 11 46 A2
JEX BEIN=THE7/<—+} 15 8 46 A3
JEX BEII=ZTHFE27/{—F} 1 11 45 A2
JEX By R—TH7/Y=+ 5 43 A3
JEX M Z=TH7/S—Fh 1 5 43 A3
JEX M =THE7 /8= Fh 2 5 44 A3
JEX FLRET 77 /X — b 13 5 44 A3
JEX EFATH7/N=F 25 12 44 A2
JEX RPBEART BT /83— b 1 8 45 A3
JEX RPEAT BT /S— b 2 5 44 A3
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JEX RPBAET BT /8= 3 5 44 A3
X FPBART BT /8— b 5 7 46 A3
JEX RPBAET BT /8= 6 5 46 A3
X FPBRTET/S— b 7 5 46 A3
JEX RPBAET BT /8= 8 5 46 A3
X FPBRT BT /8— b 9 5 48 A2
JEX RPBAETET/8— 11 8 48 A3
X FPBRT BT /8— b 11 8 49 A3
JEX JERETE 2 78— b 12 4 45 A3
LX EREZTHT7/N— 14 4 45 A3
bX FFARTET7/N—F 60 10 46 A2
LX BEIN_TBEE27/8—+ 20 3 48 A2
JEX BTN _THE®E27/¢—+ 20 3 49 A2
JEX HPL=TBET/¢— 1 5 52 A2
JEX KPR =ZTBET/¢—F 2 4 52 A2
JEX HPL=TBET/¢—h 3 5 52 A2
JEX KPP =ZTBET/¢—F 4 5 52 A3
JEX HPL=TBET/¢—h 5 5 52 A3
JEX KPR =ZTBET/¢—F 6 5 52 A3
JEX HPL=TBET/¢—h 8 5 54 A2
JEX KPP =ZTBET/¢—F 9 5 54 A2
JEX HPL=TBET/¢—h 9 5 55 A2
Sl lX RINETEHRET/S— b 2 9 50 A2
X mINETBHET /= F 3 9 50 A2
X RINANTBE7/8— 1 5 42 A3
)X RHEE-TH7/Y— 13 14 45 A3
Sl lX RHEE—-TEB7/¢—+ 14 5 45 A3
X RHEE-TH7/¢—+ 20 5 45 A3
X BEHEE-TH7/Y—} 21 14 45 A3
X BmTFEZTBET/¢{—*h 1 13 46 A3
Sl lX ETELTHE7/8\—F 20 5 48 A3
X ETELTH7/¢—F 20 5 49 A3
sl X ETELTHE7/8\—F 20 5 53 A2
X HERTBESE2T7/8—+ 6 8 49 A2
X EAETHEY/S— 9 48 A2
X EANTE7T /8=t 21 10 54 A2
RIEX i}i"F THE7/X—=F 10 11 46 A3
R X FAREZTET/N—F 1 5 43 A3
g X FAREZTET7 /Y= 1} 2 5 43 A3
R X FAREZTET/N—F 3 5 43 A3
g X FAREZTET7 /Y= 1} 4 5 43 A3
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RIEX FAEZTRHR7/¢—F 8 12 43 A3
wRBX FAFEZTEB7/¢\—+ 8 12 44 A3
RIBX FAE=ZTHR7/¢—F 9 12 43 A3
wRBX FAEZTEB7/¢{—+ 9 12 44 A3
RIBX FAE=ZTHR7/¢—F 11 5 44 A3
wRBX FAEZTEB7/¢{—+ 12 5 46 A3
RIBX RIBARRT 7 /8— | 1 4 46 A2
A& X RIBABT 7 /8— | 2 4 46 A3
RIEX RABAET 7778 — b 2 3 53 A2
wRBX BISFHETIN T B 2 78—+ 1 8 48 A3
g X AIEFEIUT B8 2 7/8— b 2 5 48 A2
wRBX BISFHETIN T B 2 78—+ 3 5 48 A3
g X AMEFHATESE27/{—F 1 4 54 A2
wRBX BHATESE 2 7/8—+ 2 4 54 A2
RIBX BIEFETRTBE 2 7/8—F 2 3 53 A2
wRBX BISFHEINT BE 2 7/8—+ 3 4 53 A2
RIBX aR—TB7/¢—F 8 3 54 A2
g X ER—TET/S—} 12 3 55 A3
RIBX IWF=TH7/X—=F 1 5 47 A2
A& X RF=ZTBE7/%— 2 5 47 A2
g X RF=TE7/¢—+ 3 5 48 A3
A& X RFE=ZTBE7/%— 4 5 48 A3
RIBX IWF=TH7/X—=F 5 5 48 A3
A& X RF=ZTBE7/%— 6 5 49 A3
RIBX EBR=THE2T7/X—} 1 b5 51 A2
wRBX ER=THFE2T7/%— 2 5 52 A2
RIBX BR=THE2T7/X—} 3 b5 53 A3
A& X WEKIR—TE7 /83— b 1 5 53 A2
RIEX RF—TEB%4 75—+ 10 5 48 A3
A& X BEAE—TBE7/—} 10 4 46 A3
RIBX EEE—TBH7/X—F} 11 4 46 A3
wRBX MERT /= 1 4 48 A3
RIBX MHERT T /= b 2 4 48 A3
A& X RFEZTET/S— 1 5 42 A3
RIBX IFZTHET7/X=F 2 5 42 A3
A& X RFEZTET/S— 3 5 42 A3
RIEX SARET /8= b 1 5 43 A3
wRBX EARET T /= b 2 5 43 A3
RIBX BARAT T /8= K 3 5 43 A2
g X EN=TBE7T/¢— 1 5 44 A3
RIBX EN=TB7/¢—F 2 5 44 A3
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RIEX EN=TB7/¢—F 3 5 45 A3
X EN=ZTHT/{—F 5 11 46 A3
RIBX EN=TB7/¢—F 6 5 45 A3
X EN=ZTHT/{—F 7 5 45 A3
g X EN=ZTET/S—F 8 5 46 A3
A& X RAGARET 7 /8 — b 1 5 44 A3
RIEX WRIB AT 7 /78— k 2 5 44 A3
X AIEFEI=TB7/¢{— 1 5 44 A3
RIEX BEE=TH7/\— 2 b5 44 A3
X AIEFEI=TB7/¢— 3 5 45 A3
RIEX BEE=TH7/\— 4 5 45 A3
A& X BIEFETIUT B 7/%— b 1 5 44 A3
RIEX BIEFHETEE T B 7 /85— b 2 5 45 A3
R X AIEFET—T B 77 /8— bk 1 5 45 A3
RIEX BEE—THB7/N—F 2 5 46 A3
X AIEFET—T B 77 /¢— bk 3 5 46 A3
RIEX BEE—THB7/N—F 4 5 46 A3
R X AIEFET—T B 77 /¢— bk 5 5 46 A3
RIEX e T7/N— b 6 14 45 A2
A& X e T7/N— bk 7 14 45 A2
RIEX FET/S— b 8 14 45 A2
R X NZR—=TBET /8= h 10 3 46 A2
RIEX WER—=TEBE7/N—+ 9 5 46 A3
A& X EN=ZTBEE2T7/8X—F 9 8 46 A3
RIBX WER—TBE2 7/8—F 1 11 46 A2
A& X IRF—THBFE2T7/8— 1 5 47 A3
RIBX IRF—THBE2T7/8X—F 2 4 47 A3
A& X IRF—THBEIT7/\— 1 3 48 A2
RIBX AT BE7/N— bk 1 4 48 A2
A& X BFHATET7/S— b 2 4 48 A2
RIEX EAZTHET /S =k 7 4 50 A3
R X HIRFTZTEH7/S—F 1 4 49 A3
RIBX IRTF=TBHE2T7/X—} 1 11 49 A2
R X FARBELRETT7/N— b 17 3 51 A2
RIEX IRTF=TBHE3IT7/X—} 1 3 51 A2
R X FAE—TE7/N—F 3 8 50 A3
RIEX AIEFEI T B 7/¢— 6 5 51 A2
R X RIEFEI—T BT /¢— b 10 5 51 A2
RIBX BR=TH7/S\—+ 2 11 50 A2
R X FE—T BT /8— b 2 3 52 A2
HEX ?ﬁj(%%' 27 /8— K 1 5 44 A3
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mEX HARE 2 7/8— b 1 5 45 A3
HEX HARE2 78—+ 2 5 44 A3
mEX HARE 2 7/8— b 2 5 45 A3
HEX HARE2 78—+ 3 5 45 A3
mEX BEmMTHET/ =k 1 3 55 A2
wmEX BEEHEHATES 2 7/¢—+ 4 3 52 A2
R X BEEHEATESE 2 7/8— b 5 3 52 A2
wmEX HEERBATH7/S— b 1 8 50 A3
mEX HEEABTATE7/¢— b 2 8 52 A3
wmEX HEERBATH7/S—t 3 3 51 A2
mEX HEEABTATE 7 /S— b 3 3 52 A2
wmEX $B—TH7T/S— 16 3 50 A2
mEX HEE i%D_TE 78— b 1 3 47 A2
R X HMEEELRAE=TH7T/¢\—F} 2 3 47 A3
mEX @méi%D:Ta 78— b 3 3 46 A2
HmEX BEELRE=TB7/{\—} 4 3 46 A2
mEX HEELTRAE=TH7/\—+ 5 3 46 A2
HmEX BEELRE=TB7/{\—} 6 3 47 A2
RS X BEELRA=TAE27/5— 1 3 52 A2
mEX BEERETUTE7/8— b 1 3 52 A2
RS X WEEHEUTE T /S— b 2 3 52 A2
HmEX BE=TB7/X—} 1 3 55 A2
HEX BE=TH7/¢—F 2 3 55 A2
mEX B== TE 7= b 3 4 55 A2
mEX HEELRABT7/—+ 1 4 41 A2
HEX ﬁ%=iEA7N—F 2 4 41 A2
TS X WEEHE=TH7/{\—+} 1 3 52 A2
wmEX BEEBHBE=ZTE7/¢\—+t 2 3 52 A2
HEX WEEHBEI=ZTHE7/¢—+t 3 3 53 A2
wmEX BEEBHBE=ZTE7/¢\—+t 4 3 53 A2
mEX WEEHBEI=ZTHE7/¢—+t 5 3 52 A2
wmEX BEEHE=THE®27/¢—+t 1 3 53 A2
mEX MEAEHBI=TEE27/5—+ 3 3 53 A2
wmEX BEEHE=THE® 4 7/%—+t 1 3 55 A2
RS X BEEHE=THES4 7/¢—+ 2 3 55 A2
wmEX EXFhEPTHT /S~ b 1 3 55 A2
mEX EFXFMUTHT /= b 2 3 55 A2
wmEX EFXFhETHT /= b 3 3 55 A2
mEX AHHFAEETEE2T7/8—+ 3 3 55 A2
wmEX AHEHFEELTEE2 7/8—+F 5 3 55 A2
R X REILEIRT B 7/8— b 2 5 54 A2
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RS X REILEIRT B 7/8— b 5 5 51 A2
HEX WEIEARTE /89— k 6 3 51 A2
RS X REILEIRT B 7/8— b 7 4 51 A2
HmEX WEIERT B 7/¢— b 8 3 51 A2
mEX HEIERTE /89— b 9 3 51 A2
wmEX WEIBERT B 7/¢— b 10 3 51 A2
R X BREILEIRT B 7/8— b 11 3 53 A2
wmEX WEIBEIRT B 7/¢— b 12 3 52 A2
RS X REILEIRT B 7/8— b 13 3 51 A2
wmEX WEIBERT B 7/¢— b 14 3 51 A2
RS X REILEIRT B 7/8— b 14 3 55 A2
HEX WEIEARTET7/8— K 15 3 52 A2
RS X REILEIRT B 7/8— b 17 3 51 A2
wmEX WEIBERT B 7/¢— b 18 3 52 A2
mEX HMEIERTE /89— b 20 3 51 A2
wmEX WEIBEIRT B 7/¢— b 24 3 53 A2
mEX MERIL=TEE27/¢— 1 3 55 A2
wmEX HEBEG=THE®27/¢—+ 2 3 55 A2
mEX MERIL=TEE27/¢— 3 3 55 A2
wmEX BEBEG=THE®27/¢—+ 4 3 55 A2
mEX MERIL=TEE27/¢— 5 3 55 A2
wmEX EXHFET=THT /S~ 1 3 46 A3
HEX EXHFE=THT7/¢—+t 2 3 46 A3
mEX JBEIZTH7/Y— bk 1 3 43 A3
mEX JBETZTH7/¢— b 2 3 43 A3
HmEX BEIZTH7/¢— bk 3 3 43 A3
mEX JBETZTBE7/¢— b 4 3 43 A3
mEX WEILEANTET7 /8= k 1 3 52 A2
mEX BEIABATHET7/¢— b 2 3 53 A2
wmEX WEIEATE7/¢— b 3 3 54 A2
mEX EHMTET7/¢—t 1 3 55 A2
wmEX EHMTHT/¢— b 5 3 55 A2
mEX EH-TE7/¢—t 1 3 52 A2
HmEX BH—-THT/Y— 2 3 52 A2
mEX HEBE—THH 2 7/¢—+ 1 3 55 A2
wmEX HREMBE—TBEE27/¢—+} 2 3 55 A2
mEX HEBE—THH 2 7/¢—+ 3 3 55 A2
wmEX HREMBE—THBE27/8—+} 4 3 55 A2
mEX MEAEHBI=TEE37/¢—t 1 3 53 A2
HEX BE=TH®%27/¢—+} 10 3 55 A2
mEX ER#EHT = 21 5 40 A3
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mEX FR@EHT = 22 5 40 A3
HmEX EREF T~ b 23 5 40 A3
mEX ER#EHT = 24 5 40 A3
HmEX EREF T~ b 25 5 41 A3
mEX EREH T~ 26 5 40 A3
wmEX EREF T~ b 27 5 40 A3
mEX EREHT = 28 5 40 A3
wmEX EREF T~ b 29 5 40 A3
mEX FR@EHT = 30 5 40 A3
wmEX EREF T~ b 31 5 41 A3
mEX ER#EHT = 32 5 41 A3
wmEX EREF T~ b 33 5 41 A3
mEX EREH T~ 34 5 41 A3
wmEX EREF T~ b 11 5 55 A2
mEX EHEPT7/— b 1 5 41 A3
wmEX AR T/$— b 2 5 41 A3
mEX EHEPT7/— b 3 5 42 A3
wmEX AR T/$— b 4 5 42 A3
mEX EHEPT7/— b 5 5 42 A3
wmEX AR T/$— b 6 5 42 A3
mEX EHEPT7/— b 7 5 42 A3
wmEX AR T/$— b 9 5 41 A3
mEX EHEPT7/— b 10 5 41 A3
wmEX AR T/$— b 16 5 41 A3
mEX EHEPT7/— b 17 5 41 A3
wmEX R T /= b 18 5 41 A3
mEX EHEPT7/— b 19 5 41 A3
wmEX AR T/$— b 20 5 41 A3
mEX EHEPT7/— b 21 5 41 A3
wmEX R T /= b 22 5 41 A3
mEX EHEPT7/— b 23 5 41 A3
wmEX R T /= b 24 5 41 A3
mEX EHEPT7/— b 25 5 41 A3
wmEX R T /= b 26 5 41 A3
mEX EHEPT7/— b 27 5 41 A3
wmEX R T /= b 28 5 41 A3
mEX EHEPT7/— b 29 5 41 A3
wmEX AR T/$— b 30 5 41 A3
mEX EHEPT7/— b 31 5 41 A3
wmEX R T /= b 32 5 45 A3
mEX EHEPT7/— b 33 5 44 A3
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mEX EHEPT7/<— b 33 5 45 A3
HmEX FHEFRT /= b 34 5 44 A3
mEX EHEPT7/— b 36 5 41 A3
HmEX AR T/$— b 37 5 41 A3
mEX EHEPT7/— b 38 5 41 A3
wmEX AR T/$— b 39 5 41 A3
mEX EHEPT7/— b 40 5 41 A3
wmEX FHEFR T/ b 41 5 43 A2
mEX EHEPT7/<— b 42 5 41 A3
wmEX FHEFR T/~ b 43 5 41 A3
mEX EHEPT7/— b 44 5 41 A3
wmEX AR T/$— b 45 5 43 A2
mEX EHEPT7/— b 46 5 43 A3
wmEX AR T/$— b 47 5 43 A3
mEX EHEPT7/— b 48 5 43 A3
wmEX AR T/$— b 49 5 43 A3
mEX EHEPT7/— b 50 5 54 A2
wmEX SHFA—THET/S—+ 11 5 46 A2
mEX B5HE—-THE7/S—+ 12 5 46 A2
mEX HW=TE7/*—+ 1 5 47 B1
RS X WEREIE=TB7 /Y-t 1 3 51 A2
wmEX HEBEI=THE7/¢— b 2 3 51 A2
RS X WERBEI=TB7/\—F 3 3 51 A2
wmEX EXF—THT/S—F 1 3 50 A2
mEX EFF—-THT/S—F 2 3 50 A2
wmEX EXF—THT/S—F 3 3 50 A2
HHEX HREBE—TB7/¢—+ 1 3 51 A2
wmEX WEBREEI—THE7/¢— b 2 3 53 A2
mEX IBET T /8— b 1 3 53 A2
wmEX IFET T N— 2 3 54 A2
RS X AHHFEELTET /= F 1 3 53 A2
wmEX aEFAEETET7/¢— b 2 3 53 A2
mEX HEARANETEE 3 7/5— 1 3 53 A2
wmEX BEEHEWMTES 3 7/¢—t 2 3 53 A2
mEX HEARANETEE 3 7/5— 3 3 53 A2
wmEX BEEHEWMTES 3 7/¢—t 4 3 53 A2
RS X HEASQBIMTAE 2 7/8— 3 3 53 A2
wmEX BEEHEMTES2 7/¢— b 4 3 53 A2
RS X BEAEHEETESE 2 7/8— b 5 3 53 A2
HEX EH-TBEE27/5—+ 1 3 54 A2
R X BEH-TEHE3IT7/¢—F 1 3 54 A2
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HEX EH-THHE3IT7/¢—+ 2 3 54 A2
HmEX HHAEE1T/8— b 22 11 55 A2
RBIIX FEETE 2 7/8— b 1 4 52 A2
RIX fREIETEE 2 7/¢— b 2 5 52 A2
BILX REMTEE 2 7/%— 3 5 52 A2
RIX fREIETEE 2 7/¢— b 4 5 52 A2
I RERTE 2 7/8— b 5 5 54 A2
RIX fREIETEE 2 7/¢— b 6 4 54 A2
RBIIX FEETE 2 7/8— b 7 4 54 A2
BIX BER-ZTH7/X—*F 20 5 50 A3
BILX ER-ZTE7/X—F 1 3 51 A2
RIX BRZTET/S—*F 2 3 46 A3
I BRZTBET7/t\—*F 3 3 46 A2
BIX REAREATHET/¢— 2 4 55 A2
BILX AR RAETAT BT /8= b 1 4 51 A2
RIX RBIhRABATH7/8— k 2 4 51 A2
BILX RAFARAETATHT7/¢— b 3 4 51 A2
BIX B FRRABATHT /= b 4 5 51 A2
I I FRABATHT/¢— b 5 5 51 A3
BIX B FRRABTATHT/¢— b 6 9 51 A2
I BAET B 7 /85— b 1 5 48 A3
RIX BAET 7 /¢— b 2 5 48 A2
I BAET B 7 /85— b 3 5 48 A3
RIX BAMTHEHSE 3 7/¢— b 4 3 55 A2
I WA THE 3 7/8— b 9 3 55 A2
RIX BARAE=TEE 2 7/¢—+} 1 5 52 A2
BIX FRAB=THEE 2 7/¢—} 2 5 52 A2
RIX BARAB=TEE 2 7/¢—+} 3 4 53 A2
BILX BRAE=ZTET/¢— k 1 5 43 A3
BIX BGRAE=ZTET/{— k 2 5 42 A3
BILX BRAE=ZTET/¢— k 3 5 43 A3
BIX BGRAE=ZTET/{— k 4 5 44 A3
BILX BRAE=ZTET/¢— k 5 5 44 A3
BIX BGRAE=ZTET/¢— b 6 11 45 A2
BILX BRAE=ZTET/¢— k 7 5 46 A3
BIX BGRAE=ZTET/¢— b 8 5 46 A3
BILX BRAE=ZTBET/¢— b 9 5 46 A3
BIX BGRAE=ZTBET/¢— b 10 8 46 A3
BILX BRAE=ZTBET/¢— b 11 5 48 A3
BIX BGRAE=ZTET/¢— b 12 5 48 A3
BILX BRAE=ZTET/¢— k 13 5 48 A3
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BILX BRAE=ZTBET/¢— b 14 5 50 A3
BILX RNAZTEBE27T7/4—F 1 5 51 A2
BILX RNAZTEHE27 /8= 2 5 51 A2
BILX RNAZTBEE27T7/8—F 4 3 53 A2
BILX RNAZTEHE27 /8= 5 5 53 A2
BILX RNAZTEBE27T7/8—F 6 5 53 A2
BILX BRAE—THEE 2 7/8—h 2 5 53 A2
BIX BERAB—TEE 2 7/¢—F 3 5 53 A3
BILX BRAE—THEE2 7/8—h 4 5 53 A2
BILX ERETET7/S— 2 5 54 A3
BILX SRETET7/X— 3 5 54 A3
BILX ERMETET7/S— 4 5 54 A3
BILX SRETET7/X— 5 5 54 A3
BIX BMEH=THBH7/Y\—+ 23 9 54 A2/A3
BILX BFHIMUTBET7/8N—+F 1 5 55 A3
BILX BHIMUTHT7/8X— 2 5 55 A2
BILX EHOETET7/S— 3 4 55 A2
BIX NAEI—TB7/{—=+ 1 3 43 A2
BILX SNAB—TH7/N— b 2 3 43 A2
BIX NABRI—TE7 /83— bk 3 3 43 A2
BILX SNAB—TH7/N— 4 3 43 A2
BIX NAEI—TB7/{—=+ 5 3 43 A2
BILX SNAB—TH7/N— b 6 3 43 A2
BIX BNEZTH7/N—F 1 5 55 A2
EBIX BWEZTH7/S— b 2 5 55 A3
BIX BNEZTH7/N—F 3 5 53 A2
EIX BWEZTH7/S—F 17 5 55 A2
EBIX BWEZTH7/S— 19 4 52 A2
EBIX BWEZTH7/S— b 20 5 52 A2
BILX RNAZTEBEAL4T/N—F 2 5 54 A2
BILX /\H THEEA4T7/R—=F 3 3 54 A2
BIX —TEBE7/X—+ 16 4 48 A3
BILX Td—TEBE7/S—+ 1 5 45 A3
BILX TA—TH7/N— 2 5 45 A3
BILX Td—TB7 /83— F 3 5 45 A3
BILX TA—TH7/N— 4 5 45 A3
BILX Td—TB7 /83— F 5 5 45 A3
EBIX B1IRKRET /8= F 1 5 40 A3
BILX B 1HEARET/ =+ 2 5 40 A3
BILX B 1HFEARBET /= b 3 5 40 A3
BILX B 1HEARBET /= F 4 5 43 A3




RREE

X ekt SR B %4 e >~
(RBFD)
BILX RAMEET 77 /3= b 1 5 48 A3
I RAMET 77 /38— b 2 5 48 A3
BILX RAMEET 77 /3— b 3 5 48 A3
BILX RAMET /38— b 4 5 48 A3
BILX RAMEET 77 /3= b 5 5 48 A3
BILX HAT /8= b 1 5 40 A3
BILX RAT/N— b 2 5 40 A3
BILX EENGERIAC 1 5 41 A3
RBILX RAEE L 7/8— b 2 5 41 A3
BILX ENGESIAC 3 5 42 A3
RBILX RAEE L 7/8— b 4 5 42 A2
I ENGESIAC 5 5 41 A3
RBILX RAEE S 7/8— b 6 5 41 A3
BILX ENGEIAT 7 5 41 A3
BILX RAEE L 7/8— b 7 5 42 A3
I ENGESIAC 8 5 42 A2
RBILX RAREE S 7/8— b 9 5 42 A2
BILX ENGESIAT 10 5 42 A2
RBILX RAEE L 7/8— b 11 5 42 A2
BILX ENGESIAC 12 5 41 A2
RBILX RAREE S 7/8— b 12 5 42 A2
BILX ENGESIAT 13 5 42 A2
RBILX RAEE DL 7/8— b 15 5 42 A2
BILX ENGESIAC 16 5 42 A2
BILX RAREE DS 7/8— b 17 5 42 A2
BILX ENGESIAT 18 5 42 A2
RBILX RAEE DL 7/8— b 19 5 42 A2
BILX ENGEIAT 20 5 42 A2
RBILX RAREE S 7/8— b 21 5 42 A2
BILX ENGESIAT 22 5 42 A2
BILX B 3 78—k 1 5 44 A3
BILX BE 3 T/ N— b 2 5 44 A3
BILX B 3 78—k 3 5 44 A3
BILX BE 3 T/ N— b 4 5 44 A3
BILX B 3 78—k 5 5 44 A3
BILX BE 3 T/ N— b 6 5 44 A3
BILX B 3 78—k 7 5 44 A3
BILX BEE 3 T /N— b 8 5 44 A3
BILX B 3 78—k 9 5 44 A3
BILX BE 3 T/ N— b 10 5 44 A3
BILX B 3 78—k 11 5 44 A3
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RBILX RAMEE 4 T7/8—h 1 5 41 A3
I ENGER AT 2 5 41 A3
RBILX RAMEE 4 7 /8—h 3 5 41 A3
BILX ENGER AT 4 5 41 A3
RBILX RAMEE 4 7 /8— % 6 5 41 A3
BILX ENGER AT 7 5 41 A3
BILX RAREE 4 T7/8— 8 5 41 A3
BILX EENGER AT 9 5 41 A3
RBILX RAMEE 4 T7/8—h 10 5 41 A3
BILX ENGER A 11 5 41 A3
RBILX RAME 4 7/8—h 12 5 42 A2
I ENGER AT 13 5 42 A2
BILX RAREE 4 T7/8— 14 5 42 A2
BILX ENGER AT 15 5 42 A2
RBILX RAME 4 7/8—h 16 5 42 A3
I MOFRETET/X—=F 1 5 43 A2
BILX MORETHET7 /Y= |k 1 5 44 A2
BILX MOFRETET/X—=F 2 5 43 A2
BILX MORETET7 /Y= |k 3 5 43 A2
BILX MOFRETET/X—=F 4 5 42 A3
BILX MORETET7/X—F 5 5 42 A2
BILX MOFRETET/X—=F 10 5 43 A3
RBILX MORETET7 /Y= |k 11 5 43 A3
BILX MOFRELTET /= 12 5 43 A3
BILX MORETET7/X—F 13 5 43 A3
BILX MOFRELTET/X—=F 14 5 43 A3
BILX MORETET7 /Y= |k 15 5 44 A2
BILX MOFRETET/X—=F 16 5 43 A2
RBILX FAERAFEIE T B 77 /8— b 1 5 43 A2
BILX ARABETE7/X—k 2 5 43 A2
RBILX FRERAFEIE T B 77/8— b 3 5 43 A2
BILX ARABETE7/X—k 4 5 43 A2
BILX FRERAFEIE T B 77/8— b 5 5 43 A2
BILX ARABETE7/X—k 6 5 43 A3
RBILX FRERAFEIE T B 77/8— b 7 5 42 A2
BILX ARABETE7/X—k 8 5 43 A2
BILX FRERAFEIE T B 77/8— b 9 5 43 A2
BILX ARABETE7/X—k 10 5 43 A2
BILX FRERAFEIE T B 77/8— b 11 5 43 A2
BILX ARABETE7/X—k 12 5 43 A2
RBILX FRERAFEIE T B 77/8— b 13 5 43 A2
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BILX FERARFEMT B 7/8— b 15 5 43 A3
BILX FERAMBMET B 7/8— b 16 12 43 A3
BILX FH—THB7/{—+| 6 5 42 Bl
BILX FH-—TBE7T7/S—F 7 5 42 Bl
BILX FH—TB7/¢—F 8 8 43 A3
BILX FH-—TBE7T7/S—F 9 5 42 Bl
EBIX FH—THB7/¢—+| 10 5 42 Bl
BILX FH-—TBE7T7/{—F 11 5 43 Bl
BILX FH—TB7/{—F 12 5 43 A3
BILX maFHE 4 78—+ 1 4 43 A3
BILX FFHFE 4 T7/8— k 2 4 43 A3
BILX maFHE 4 78—+ 3 5 43 A3
EBIX PR HARET T B 7/8— b 4 5 44 A3
BILX BHHAGT_THT7/{— b 5 5 44 A3
BILX FFHAEZTHT7/8— b 6 5 45 A3
BILX BEHHAGT_THT7/{— b 7 5 46 A3
EBIX EFHHAE_THT/{—h 8 5 45 A3
BILX BEHHAGT_THT7/{— b 9 3 46 A2
EIX ﬁ#ﬁ#?&ﬁ TE7/¢—F 10 3 46 A2
BILX AHEZE 3 7/8— k 11 5 43 A2
BILX J:,I:EH% 37 /N—h 12 5 43 A2
BILX EBAE 3 T7/8—+ 15 8 43 A3
BILX TdE77 /83— b 1 3 44 A3
BILX STAE 77 /83— 2 3 44 A3
BILX STAE 7 /83— b 3 5 45 A3
BILX STAE 77 /83— 4 5 45 A3
BILX I AT 5 5 45 A3
BILX BIERT/N— k 6 5 43 A2
BILX AREZRT/I— b 7 5 43 A2
BILX BIERT/N— k 8 5 43 A2
BILX AREZRT/I— b 9 5 43 A2
BILX BERT /= b 10 5 43 A3
BILX BIERT /N— k 11 5 43 A2
BILX BIERT/N— k 12 8 43 A3
BILX BRAE_ZTEE27/¢—F 1 5 43 A3
BILX FARAE_ZTEE27/¢—F 2 5 44 A3
BILX BRAE-ZTEE 2 7/8—h 3 5 44 A3
BILX FARAB_ZTEE27/¢—F 4 5 44 A3
BILX BRAE-ZTEE 2 7/8—h 5 5 46 A3
BILX FARAE_ZTEE27/¢—F 6 5 46 A3
EBIX FARABZTHSE 2 7/5— 7 5 46 A2




BRFE

Mt SR (@) TR 7
BRAM-TESE2 75—k 8 4 46 A3
JbEERE 2 73— b 1 5 44 A2
JLEERSE 2 78— b 2 5 44 A2
JbEERE 2 73— b 3 5 44 A2
JLEERSE 2 78— b 4 5 44 A2
JbEERE 2 73— b 5 5 44 A2
{REIET 7 /< — b 1 3 44 A3
fREET /¢~ b 2 3 44 A3
{REET 7 /< — b 3 3 44 A3
fREET /¢~ b 4 3 44 A3
{REET 7 /< — b 5 3 44 A3
RIFRAET BT/~ b 1 5 44 A3
EIRRAREITH 7 /S~ b 2 5 44 A3
RIFRAET BT/~ b 3 5 45 A3
RIFRAMET B 75— b 4 5 45 A3
RIFRAET BT/~ b 5 14 46 A2
TFAETTAT T/ ¢— b 1 44 A3
FATH 7/~ b 2 44 A3
TFAETTAT T /¢— b 3 44 A2
FATH 7/~ b 4 44 A2
RIBET 7 /8 — b 1 5 44 A2
KRB 7 /3~ b 2 5 44 A2
RIBET 78— b 3 5 44 A2
=BET TS — b 4 5 44 A2
RIBET 78— b 5 5 44 A2
KRB 7 /3~ b 6 5 44 A2
RIBET7 /8 — b 7 5 44 A3
KRB 7 /3~ b 8 8 46 A2
RIBET 78— b 9 5 46 A2
RBE 7 /8~ b 9 5 47 A2
RIBET 78— b 10 5 47 A2
KRB 7 /3~ b 12 5 47 A2
RIBET 7 /8 — b 13 5 47 A2
KRB 7 /3~ b 14 5 46 A2
RIBET 78— b 14 5 47 A2
7Y RETT /¢~ b 1 5 44 A2
XY ARBTT /¢ — b 2 5 44 A2
7Y RETT /¢~ b 3 8 44 A3
XY ARBTT /¢ — b 4 8 44 A3
7Y RETT /¢~ b 5 5 44 A2
7Y ARBTT /¢ — b 6 5 44 A2
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TV ARBT T 8— k 5 44 A2
TV ARET 78— b 8 5 44 A2
TV ARBT T 8— k 10 5 44 A3
TV ARET 78— b 11 5 44 A2
TV ARBT T 8— k 12 5 44 A2
TV ARET 78— b 13 5 44 A2
TV ARBT T 8— k 14 5 44 A2
T ARET 78— b 15 5 44 A2
TV ARBT T 8— k 16 5 44 A2
TV ARET 78— b 17 5 44 A2
TV ARBT T 8— k 18 8 45 A2
RBIAFHE—-TEH7T 1 5 44 A3
BUFE-TH7T 2 b5 44 A3
RBIAFHE—-TEH7T 3 5 44 A3
TEMEE 3 7 /85— b 6 5 45 A3
TEMHEE 3 7/8— b 8 5 44 A2
TEMEE 3 7 /85— b 8 5 45 A2
TEMHEE 3 7/8— b 9 5 45 A2
TEMEE 3 7 /85— b 10 5 44 A2
TEMHEE 3 7/8— b 11 5 44 A2
TEMEE 3 7/8— b 12 5 44 A2
TEMHEE 3 7/8— b 13 5 44 A2
TEMEE 3 7 /85— b 14 5 44 A2
BiF)IIMT BT 1 5 46 A3
RBIXAFRINMNTET 2 5 45 A3
ETLEPJHETﬁﬁ/ 3 5 45 A3
EBIXAFRINMNTET 4 5 48 A3
BREATHT/S—F 3 5 45 A2
BEATHT/S—F 4 5 45 A3
BRATHT/S—F 5 5 45 A2
BEATHT/S—F 6 5 45 A2
BRATHT/S—F 9 5 45 A2
BEATHT/S—F 10 5 45 A2
BRATHT/S—F 11 8 46 A2
BEATHT/S—F 12 8 46 A2
BRATHT/S—F 13 8 46 A2
BEATHT/S—F 14 8 46 A2
FEEARZTBET /N 1 45 A3
FERKRKZTET 2 45 A3
BXFEH=TEH7 1 46 A3
BIFH=THE7 2 46 A3
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RBIIX BIFHF=THT7/N— 3 5 46 A3
BILX EBIFEFE=TH7/X—h 4 5 46 A3
RBIIX BIFHF=THT7/N— 5 5 46 A3
BILX EBIFEFE=TH7/X— 18-2 5 46 A3
BILX RBIUFEFE=TBET/X—F 18-3 5 46 A3
BILX EBIFEFE=TH7/*—h 18-4 4 46 A3
RBILX NAHET T /= b 1 5 46 A3
BILX FNBET 7 /R— k 2 5 46 A3
BILX INBHRT/N— k 3 5 46 A3
BILX FNBET 7 /R—k 4 5 46 A3
BILX KABA—TB7/¥—k 1 4 46 A2
BILX KAB—TEB7/¥— 3 5 46 A2
BILX KABA—TB7/8—F 3 b5 47 A2
BILX BARARE—TB7/3—k 1 8 46 A3
BILX BERARE—TB7/8— b 2 5 46 A3
BILX TEHEE 4 7/8— b 1 5 46 A2
EBIX TEHE 4 78— 2 5 46 A2
BILX TEHEE 4 78— b 3 5 46 A2
EIX TEHE 4 7/8— 4 5 46 A2
BILX TEHEE 4 7/8— b 5 5 46 A2
EBIX TEHE 4 7/8— 6 5 46 A2
BILX TEHE 4 7/8— b 7 5 46 A2
EIX TEHE 4 7/8— 8 5 46 A2
BILX TEHEE 4 7/8— b 9 5 46 A2
BILX LMEE 4 7/8— k 10 11 46 A2
BILX TEHE 4 7/8— b 11 11 46 A2
BILX LMz 4 7/8— k 12 5 46 A2
BILX TEHEE 4 7/8— b 13 5 46 A2
BILX LMEE 4 7/8— k 14 5 46 A2
BILX TEHEE 4 7/8— b 18 5 46 A2
EBIX TEHE 4 7/8— 19 5 46 A2
BILX TEHEE 4 7/8— b 20 5 46 A2
BILX LMEE 4 7/8— k 21 5 46 A2
BILX TEHEE 4 7/8— b 22 5 46 A2
BILX TEMHEE S 7/8— 1 4 46 A2
BILX TEMHEE S 7/8— b 2 4 46 A2
EBIX TEMEE D 7/8— b 3 4 46 A2
BILX TEMHEE S 7/8— b 4 3 46 A2
EBIX TEMEE D 7/8— b 5 3 46 A2
BILX TEMHEE S 7/8— b 6 3 46 A2
BILX FFHNT B 7 /83— b 1 5 48 A2
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B FFFHNT BT /85— b 1 5 49 A2
BIX FFFHNT BT /85— b 2 5 48 A3
EBIX EHFHANTET/S—F 3 5 48 A3
EBIX FEHHNTET /A= 4 4 48 A3
EBIX FFFHNT BT /85— b 5 4 48 A3
EBIX FEHHNTET /A= 6 4 48 A3
EBIX FEFFHNT BT /85— b 7 5 48 A3
BIX EUNGACEN 1 5 51 A3
B EUNGAC 2 5 48 A3
BIX EUNGACE 3 5 48 A3
BILX =N IAC 4 4 48 A3
BIX EUNGACE 5 5 48 A3
EBIX EUNGACE 6 5 48 A3
BIX EUNACEN 7 5 48 A3
EIX EUNGACE 8 5 48 A3
BIX EUNGACE 9 5 48 A3
EBIX EUNGACE 10 5 48 A3
BIX EUNACEN 14 8 48 A2
EIX EUNGACE 15 5 48 A3
BIX EUNGACE 16 5 48 A3
RIX | EABR /= b 17 5 48 A3
BIX EUNACEN 18 8 48 A2
BILX LH% 6 7/3— b 1 3 48 A2
BIX TEHEE 6 7/8— b 2 3 48 A2
BILX EH% 6 7/3— b 3 3 48 A2
BIX TEHEE 6 7/5— b 4 3 48 A2
EIX MOFELTHEE27T7/8—F 1 5 50 A3
BIX MoOFEETHEE2 T7/8—+ 2 4 50 A2
EBIX MOFELTHEE2T7/8—F 3 4 50 A2
BIX NAZTE7/X—=+ 17 4 51 A2
EBIX FEHE=TBEHE27/3— 5 3 51 A2
EBIX FEHE=TBEHE27T7/X—F 7 3 51 A2
BILX BH=ZTEB7/ =+ 1 4 51 A2
BIX FEH=ZTB7/{—} 2 5 51 A2
EBIX RINZTEHT/N—F 2 5 51 A2
BIX EieMEAT BT /S— bk 4 3 51 A2
BILX AiEEAT BT /S— b 5 3 51 A2
EBIX MEiEMATE /<=t 17 3 54 A2
EBIX mitMATET/<—Fh 20 3 51 A2
EBIX MEiEMATE /<=t 22 3 51 A2
EBIX EHATET7/S— 46 8 52 A3
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INAR=ZTEBET7/8—F 6 52 A2
BAETHEHSE 2 7/¢— b 5 53 A2
BMETESE 2 7/8— k 7 53 A2
BAETHEHSE 2 7/¢— b 8 53 A2
RIMME_TEH7/%—+t 3 53 A2
RIMME_THT/¢—t 4 53 A2
RIMME_TE7/%—+t 7 53 A2
HRAM—-TBET/¢—F 1 53 A2
HEKRE—TET7/¢—+ 2 54 A3
HRAM—TBET/¢—F 3 53 A2
HEKRE—TET7/¢—t 4 54 A3
RIARETT /8= b 1 55 A3
BIARBT T/ — b 2 54 A2
RIARETT /8= b 3 9 54 A2
BIARBT T — b 4 9 54 A2
SEH=TBEFE27T7/¢—+} 1 8 53 A3
EH=THEF27/¢—+ 2 5 53 A3
EH=TBEHFE27T7/¢—+ 3 5 53 A2
EH= TE%’Z 78—k 4 5 53 A2
MIEMATEE 2 7/8— b 11 3 55 A2
X — TE%’3 78— b 2 3 55 A2
LXN—THHE27T7/¢—+} 1 3 55 A2
BE_TH®27/¢—+ 1 4 52 A2
EF=TB7/¢—=*} 3 4 50 A2
ER=THB7/¢—h 4 5 50 A3
EF=TB7/¢—=*} 5 5 50 A3
ER=THB7/¢—t 6 8 51 A3
EF=TB7/¢—=*} 7 11 51 A2
ER=TB7/¢—t 8 5 51 A2
BEWMTEHT/S— 12 5 50 A3
HEZTHESE3I T/t 1 5 54 A2
BB—TH7T/¢—*F 1 11 50 A2
B8E—TH7/¢—} 2 5 52 A2
BB—THT/¢—*F 3 5 52 A2
B8E—TH7/¢—} 4 5 54 A2
BB—THT/¢—*F 5 4 54 A2
EFET/ =+ 3 3 55 A2
EN=TBT/¢—} 5 4 48 A2
LEX=TBE7/¢—t 6 5 50 A3
EN=TBT/¢—} 7 5 50 A2
LEX=TBE7/¢—t 8 5 50 A3
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IR PIFR)IRR—TE7/{—} 5 5 44 A3
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u)is |BAI=TR7A—F 10 10 46
T)H | EEBEATET A+ 52 5 51
w)iH | ELREATET /A~ * 53 5 51
T)H | EEBEATET /A F 54 5 51
Sh |SIEEREATB7/5— | 55 5 51
T)H | EEBEATET A+ 56 5 51
w)iH | ELREATET /A~ * 57 5 51
T)H | EEBEATET /A F 58 5 51
WH  |SISEATE 7/ F 1 1 52
T |SIBEAT B 7/ b 2 1 5
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REHT |SEFEENTE /- 16 3 51 A2
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ZEH RRMTEE2 7/8—+ 2 7 48 A3
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=i RRMTEE2 7/8—+ 5 3 48 A2
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=/E™ rEEATET/N— 2 3 51 A2
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siEh SAAETET B 77 /85— b 9 5 46 A3
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S EEEIZTE7/¢— b 1 3 54 A2
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FFep T EEETZTET /%= 4 3 55 A2
S BRI ZTE7/¢— b 1 4 55 A2
fFehH BRI ZTE7/¢— b 2 3 55 A2
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ETEH™ [T /S— b 16 4 51
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ETE®  |FR#ET /S — b 18 5 51
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ETE®  |FR#ET /S — b 2 4 51
ETEH™  |ER#ET/<— b 3 5 51
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BIE®  |FR#ET /= b 10 5 53
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BIE® | LsET 7/ <— b 4 3 52 A2
BIE® | lLEE 7 /¢— b 5 3 52 A2
BIE® | LIsET 7/ <— b 6 3 52 A2
BIE® | LIEE7/¢— b 7 3 52 A2
BIE® | LsET 7/ <— b 8 3 52 A2
BTE®  |EHEES/RE2 78— b 1 3 52 A2
BIE®  |BAESHRE2 75—k 2 3 52 A2
BTH ™ ETHE/HE 2 7/85— h 3 3 52 A2
BIE®  |B4EmTE7/S— 1 5 52 A2
BIE®  |R4ElTE7/$— 2 5 52 A3
BTE® (D&l TE7/S— 3 5 52 A3
BIE®  |24ElTE7/$— 4 5 52 A2
BIE®  |REE7/<— b 6 10 53 A2
BTE®  |BREmE7/<— b 7 10 53 A2
BIE®  |REE7/<— b 8 10 54 A2
heHT NEHEE=TE 7/ -k 37 3 54 A2
heHT NEHEE=TR7/— k 38 3 54 A2
WNEeHT  [NEHAREZTBET7 /= 8 3 45 A2
WNeHm [NEHAEZTET7/— 11 6 46 A3
NeHFH  [NEHRET=TBE7/{— 1 3 52 A2
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NET FERAE_TET7/\—F 1 3 54 A2
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N INEERARET—T B 7/8— b 2 5 46 A3
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NP | EkERTT - b 2 3 52 A2
NETH FERAE—TBE7/\—F 1 3 54 A2
NFH |2EER—TBE7/¢— b 2 3 54 A2
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HE M BEFL7/8— b 3 5 44 A2
BHEF™ HE L7/ 89— b 4 5 44 A3
BT |[ABFELT/<—t 5 5 44 A3
BHEF™ HE L7/ 89— b 6 5 48 A3
HE M BHEHTH 7 /83— b 1 5 43 A2
BEdH  |AHHHET/ -k 3 5 43 A2
HE M BHEHTH 7 /83— b 4 5 43 A2
BEdH  |BHHHET/ -k 5 5 43 A2
HE M BEFHTH 7 /83— b 6 5 43 A2




RREE

X4 H# 4 SR Pk MEK¥Z >
(RBF)
HEF ™ HEFgH 7 /38— b 7 5 43 A2
HEF HEFFH 7/~ k 10 5 43 A2
HEF ™ HEFH 77 /X— b 11 5 43 A2
HEF HEPFH 7 /58— k 12 5 43 A2
HE ™ HEFH 77 /X— b 13 5 43 A2
HE™ HE=R7/Y— b 1 4 46 A2
HE ™ HE=R7/{—+| 2 4 46 A2
HE™ HEF=R7/Y— b 3 5 46 A2
HEF ™ HE=R7/%— b 4 5 46 A2
HE™ HE=R7/Y— b 5 3 46 A2
BALW |[EALFOLEIZT B 78—k 1 5 52 A2
BAILT |[EMLUFILEZTB 7/8—F 6 5 54 A2
AL |ERANLFOLEI Z T B 78— b 7 3 50 A2
B | ROERET—T B 78— b 1 3 55 A2
BEATLT  |RORET—T B 7/8— b 2 3 55 A2
B | ROERET—T B 78— b 3 3 55 A2
BATLT  |ZEHET—TB7/¢—+ 1 5 46 A3
BHAL® | EANLELRET T/ 8- b 1 3 50 A3
BATLT | RALELRETT /- b 2 5 50 A2
Biafm | FER=TE7/¢—+t 1 4 53 A2
BAL® | BEM=ZTE7/S—F 2 4 53 A2
EaFm |[BaFaEE—TBE7/8— 2 3 55 A2
EoFm  |EoFAEE—TEB7/¢—+ 3 3 55 A2
EoFhm |[BEEA=ZTET/S—+ 1 3 51 A2
EaFm |[EEA=ZTE7/S—F 2 3 51 A2
EaFdh |[BEEA=ZTEHHE2T7/5—+ 1 3 53 A2
ESjvans) EMd=TBE7/{—F 1 3 46 A2
EShvans) Exd=TE7/¢— 2 3 52 A2
ESjvans) EMd=TBE7/{—F 2 3 53 A2
EShvass Exd=TE7/¢— 3 3 52 A2
ESjvans) EMd=TBE7/{—F 3 3 53 A2
EShvans) Exd=TE7/¢— 4 3 46 A2
ESjvans) EMd=TBE7/{—F 5 3 51 A2
EShvass Exd=TE7/¢— 6 3 51 A2
ESjvans) EMd=TBE7/{—F 7 3 52 A2
EShvans) Exd=TE7/¢— 12 3 53 A2
ESjvans) EMd=TBE7/{—F 13 3 51 A2
EShvans) Exd=TE7/¢— 14 3 51 A2
ESjvans) EMd=TBE7/{—F 15 3 51 A2
EShvans) EMA=TEHF27T7/{—+ 1 3 54 A2
EShvas s EMER=TB7/{—} 1 3 48 A2




RREE

X4 H# 4 SR Pk MEK¥Z >
(RBF)
EShvanss! EIZE=-THE27/%—} 1 3 51 A2
Eizm ER=THE27/5—} 2 3 52 A2
Eskviny) EHxE=THBH7/%—h 1 3 53 A2
Eizm EZE=TH7/%— 2 3 54 A2
EShvays) BEWE 7 /8— b 1 5 43 A3
EShvans) A 2 5 43 A2
EShvans) EWm 7T/ — b 3 5 43 A2
EShvans) EWE T /= b 4 5 43 A2
ESjvans SWm 7T/ — b 5 5 43 A2
Eizm EiR-ZTBE7/S—} 1 3 49 A2
ESjvans) EMERE_TE7/{—} 2 3 49 A2
FAERRT  |AEAEETE 7/ b 1 8 51 A3
FEERRT  |(HAEREETE 78—k 3 4 51 A2
BEERm |BERETETE 7 /N— 1 4 55 A2
EERm  |(BERETETE /- b 2 4 55 A2
BEERm (BRI TE7/N— 3 4 55 A2
EERm (BRI TET/S— b 4 4 55 A2
FEERRm |AEEE—TB7/S—F 1 3 50 A2
HERT |HEmE—TE7/¢—+t 2 3 50 A2
FEERm |AEEE—TB7/S—F 17 3 52 A2
FBEERRT |(AEEETE 7/ k 1 5 52 A2
FEERRT  |AEEIEETE 7/ b 25 3 52 A2
EERm  |(BERE—TE7/{—+h 1 4 55 A2
BAERm |(BERE—TE7/{—+ 2 4 55 A2
BEERm  |(BERE—TE7/{—Fh 3 4 55 A2
BAERm |(BERE—TE7/{—+ 4 4 55 A2
EERm  |(BERE—TE7/{—+h 5 4 55 A2
FBAERRT  |(AEZARETE7/N— 1 3 55 A2
FEERT  |(HAEZARETE 7/ 2 4 55 A2
FAERRT  |(AEZARETE7/N— 3 4 55 A2
FEERT  |(HAEZARETE 7/ 4 4 55 A2
FAERRT  |(AEZARETE7/N— 5 4 55 A2
FERRM |(|AEZARUTEBT7/S—F 6 3 55 A2
FAERRT  |(AEZARETE7/N— 7 3 55 A2
FERT |HERASEMT B 78— b 5 3 50 A2
FERERM |(AEILEE—THB7/¢—+ 1 4 55 A2
FAERT |[AELREE—TB7/¢{— 2 4 55 A2
FERERM |(AELEE—T B 7/¢—+ 3 4 55 A2
BEERRT  |(AEAKEETET7/N—F 11 3 49 A2
FEERRT  |(AEAEETET7/N—F 12 3 49 A2
BEERRT  |(AEAKEETET7/N—F 13 3 49 A2




BRFE

X4 Sipuk SR Pk WE%EZ > 7
(RBF)
FBEERm  |(AEARETETE 78—k 14 3 53 A2
FEERRT  |(AEAEETET7/N—F 15 3 53 A2
BEERRT  |(AEAKEETET7/N—F 16 3 53 A2
FERRT  |(AEAEETET7/N—F 17 3 53 A2
BEERRT  |(AEREETET7/N—F 18 3 53 A2
FEERRT  |(AEAEETET7/N—F 19 3 53 A2
BEERRT  |(AEAKEETET7/N—F 20 3 53 A2
FEERRT  |(AEAEETET7/N—F 21 3 53 A2
FBEERm  |(AERETETE7/¢—F 22 3 53 A2
FEERRT  |(AEAEETET7/N—F 23 3 53 A2
FBEERm  |(HEREETE 78—k 24 3 53 A2
FEERRT  |(AEAEETET7/N—F 25 3 53 A2
FERRT |(AEZARATHT/S—F 30 3 50 A2
BARRM [AEZAR=ZTET/{—F 1 3 55 A2
FERRT |(AEZAR=ZTHT7/{—F 2 3 55 A2
BARRM [AEZAR=TET/{—F 3 55 A2
FERRM |(AEZAR=ZTHT7/{—F 3 55 A2
AERT |HAEREEH=TE7/¢— | 14 3 51 A2
BEERRT (AEREE=TBE7/{—F 15 3 51 A2
AERT |HAEREE=TE7/¢— | 16 3 51 A2
BEERRT |(AEmE=TH%27/{—+ 17 3 52 A2
AERT |HERAE=THEHE27/¢—+F 30 3 52 A2
HERT |HERAMTEE2 7/8—F 2 3 53 A2
FERT |HERAEMTESE 2 7/8—h 3 3 53 A2
FERT |BEZARATESE2T7/¢—+ 46 8 54 A3
FERM [(WRZTE7T/¢— 1 4 55 A2
BEERERM  [(WRZTE7/¢—F 2 3 55 A2
FERM [(WRZTE7T/¢— 3 3 55 A2
BEERERM  [(WRZTE7/¢—F 4 3 55 A2
JRIH I T /8= b 1 5 41 A3
AT AT T /8— b 2 5 41 A3
JRIH I T /8= b 3 5 41 A3
AT I T/8— b 5 5 42 A2
JRIH I T /38— b 6 5 41 A3
BT I T/8— b 7 5 41 A3
JRIH I T /38— b 8 5 41 A3
AT I T/8— b 9 5 41 A3
JRIH I T /8— b 10 5 41 B1
AT LT /8— b 11 5 41 B1
JRIH I T /38— b 12 5 41 B1
AT I T/8— b 13 5 41 B1




RREE

X4 Sipuk SR Pk WE%EZ > 7
(RBF)
AT I T /58— b 14 5 41 B1
JRIH I T /8= b 15 5 41 B1
AITH I T /58— b 16 5 41 B1
JRIH I T /38— b 17 5 41 A3
AITH I T /58— b 18 5 41 A3
JRIH I T /8— b 19 5 41 A3
AT LT /8— b 20 5 41 A3
JRIH I T /38— b 21 5 41 A3
AT I T /58— b 22 5 41 A3
JRIH I T /8= b 23 5 41 A3
AITH I T /58— b 25 5 41 A3
JRIH LT /8= b 26 5 41 A3
AT I T /58— b 28 5 41 A3
JRIH I T /8— b 29 5 42 A3
AITH I T /58— b 30 5 42 A3
JRIH LT /8= b 31 5 42 A3
AT I T/8— b 32 5 42 A3
JRIH I T /8— b 33 5 42 A3
AITH I T /58— b 34 5 42 A3
JRIH LT /8= b 36 5 42 A3
AT I T/8— b 37 5 42 A3
JRIH I T /8— b 38 5 42 A3
AITH I T /58— b 39 5 42 A2
JRIH LT /8= b 40 5 42 A2
AT I T/8— b 41 5 42 A2
JRIH I T /8— b 42 5 42 A2
AITH I T /58— b 43 5 42 A2
JRIH LT /8= b 44 5 42 A2
AT I T/8— b 45 5 42 A2
JRIH I T /8= b 46 5 42 A2
BT I T/8— b 47 5 42 A2
JRIH I T /8= b 48 5 42 A2
AT I T/8— b 49 5 42 A2
JRIH I T /38— b 50 5 42 A2
ERET MIL=TE7/¢—h 1 4 53 A2
=P MIL=TH7/¢— b 10 4 53 A2
ERET MIL=TE7/¢—h 11 4 53 A2
=P MIL=TH7/¢— b 1 4 55 A3
ERET BETTE—TBT7/\—k 3 3 50 A2
=P BHEMTE—THT/¢—+t 4 3 53 A2
ERET BETE—TBT7/\—k 5 3 52 A2




RREE

X4 Sipuk SR BN
(RBF)
ERET BEMTE—THB7/¢—+} 3 52 A2
=P BHEMTE—THET/¢—+t 7 3 50 A2
ERET BREMTE—THB7/¢—+} 12 3 52 A2
=Pz BHEMTE—THT/¢—+t 13 3 53 A2
=P BEMTE—THB7/¢—+} 17 3 50 A2
=P MILZTHE7/¢—+h 3 55 A2
B R MILZTE7/¢—h 2 4 55 A2
=P MIL=TH® 2 7/¢—t 20 4 53 A2
ERET MIL=TE% 2 7/¢—} 22 3 53 A2
=P MIL=TH® 2 7/¢—t 25 3 53 A2
ERET MIL=TEBE% 2 7/¢—} 3 4 53 A2
BT ERITTEI ZT B 7/8— b 21 3 55 A2
B R ERITEI ZTE7/8— b 22 3 55 A2
BT ERITTEI ZT B 7/8— b 23 3 55 A2
=l FIBATHE7/N—F 1 4 53 A2
=Pz BIEATHT/S— b 2 3 54 A2
=l FIBATHE7/X—F 3 4 54 A3
=P BIEATHT/S— b 3 4 55 A3
ERET BT ZTHEE®E 27/~ 1 3 55 A2
BT BETEZTESE 27 /89— F 2 3 55 A2
ERET BT ZTHEE®E 2 7/¢—+ 3 3 55 A2
=P BHEMTE=THT/¢— 1 5 51 A3
ERET BHEMTE=THE7/¢—+} 2 5 51 A3
BARKT |[J\BETE 1 7/ b 1 5 47 A2
BRARKM [\BEE L 78— b 2 5 47 A2
BARXKT |[J\IBETE 1 7/ b 3 5 47 A2
BRARKT |[\BEE L 78— b 4 5 47 A2
BARKT |[J\IBETE 1 7/ b 5 5 47 A2
BRARKM |[A\EEE L 7/8—k 6 5 47 A2
BARKT |[J\IBETE 1 7/ b 7 5 47 A2
RARBKT [RABRNK/\MERE 3 7/8— b 22 3 51 A2
HEfAL® |[AL7e— b 24 5 39 A3
HEML® |[AL7/e— b 25 5 39 A3
BEfAL® |[AL7e— b 26 5 39 A3
HEML® |[AL7/e— b 32 5 39 A3
BEfAL® |[AL7e— b 33 5 40 A3
HEML® |[AL7/e— b 41 5 40 A3
HEfAL® |[AL7e— b 42 5 39 A3
ZE™ ZE=1—2 7 EHEMH 4-2-1 5 44 A2
ZEH  |SE=a—2v AR 4-2-2 5 44 A2
SEM  |ZEZ 287 HHEM 4-2-4 5 44 A2




RREE

XH4 SifzuEd =% E
(RBF0)
LEHR BB a—& v ESAEM 4-2-5 5 44 A2
LEHR  |ZEZ -2 ESEM 4-2-6 5 44 A2
ZEM |ZE=a1—x7VERHEM 4-2-7 5 44 A2
LEHR  |ZEZ -2 YESEM 4-2-8 5 44 A2
ZE®M |ZE=a1—x7VERHEM 4-2-9 5 44 A2
LEET (BB —2 Y EHAEEH 4-2-10 5 44 A2
SEEH BB —4 Y EHEE 4-3-3 5 44 A2
LEHR  |ZEZ -2 YESEM 4-3-4 5 44 A2
SEEH BB — 49 EHEE 4-3-5 5 44 A2
LEHR  |ZEZ -2 ESEM 4-3-6 5 44 A2
ZEM |ZE=a1—x7VERHEM 4-3-7 5 44 A2
LEHR  |ZEZ -2 YESEM 4-3-8 5 44 A2
SEET BB —4 Y EHEE 4-3-9 5 44 A2
LEHR  |ZEZ -2 YESEM 4-3-10 5 44 A2
LEHR BB a—g v ESAEM 5-2-1 5 44 A2
LEHR  |ZEZ -2 YESEM 5-2-2 5 44 A2
SEET S E- 2 —4 Y EHEE 5-2-3 5 44 A2
LEHR  |ZEZ -2 YESEM 5-2-4 5 44 A2
SEET BB —4 Y EHEEH 5-2-5 5 44 A2
LEHR  |ZEZ -2 YESEM 5-2-7 5 44 A2
SEET BB — 49 EHEE 5-2-8 5 44 A2
LEHR  |ZEZ -2 YESEM 5-2-9 5 44 A2
LEMR BB a—& v ESEM 5-2-10 5 44 A2
LEET  |SE- 1 —2 Y EHAEEH 5-2-11 5 44 A2
LSBT |SE- 1 —4 Y EHEE 3-1-1 11 51 A2
LEETR  |SE- 1 —& Y EHAEEH 4-2-11 5 51 A2
SEET  |BE- 2 —4 Y EHEEH 4-2-12 5 51 A2
LEHR  |ZEZ -2 YESEM 4-4-1 5 51 A2
ZEM  |ZE=a1—x7VERHEM 4-4-2 5 51 A2
LETR  |(SE-L—gY EEAEM 3-1-1 5 45 A2
LETR (LB 1—gY EEAEM 3-1-2 5 45 A2
LETR  |(SE-L—gY EEAEM 3-1-3 5 45 A2
LEETR |SEZL—gY EEAEM 3-1-4 5 45 A2
LETR  |(SE-L—gY EEAEM 3-1-5 5 45 A2
LEETR |SEZL—gY EEAEM 3-1-6 5 45 A2
LEETR  |SE-1—2Y A 3-1-7 5 45 A2
ZE™ LEZ 21—y A 3-1-8 5 45 A2
LEETR  |SE-1—2Y A 3-1-9 5 45 A2
LEHR |ZEZa—& 7 AEEM 3-4-1 5 45 A2
LEETR  |SE-1—2Y A 3-4-2 5 45 A2
LSBT |SE-1—4Y A 3-4-3 5 45 A2




BRFE

XM Sibiuk4 SR A/
(RBFD)
% EETh ZE= 21— 7 HARR 3-4-4 5 45 A2
2EH  |2E—a— &Y AR 3-4-5 5 45 A2
ZEH (B2 — &Y NEAE 3-5-1 5 45 A2
SET |SE-—2—2% A 3-5-2 5 45 A2
SEEH | SE—2— & AR 3-5-3 5 45 A2
2EH |2E—a— 25 AR 3-5-4 5 45 A2
SEEH | SE—2— & AR 3-5-5 5 45 A2
2EH  |2E—a— 25 AR 3-7-1 5 45 A2
ZEH (B2 — &Y A 3-7-2 5 45 A2
2EH  |2Eo—L— gy EBEEM 1-2-1 11 45 A2
ZEH (B2 BRI 1-2-2 11 45 A2
LEH  |2Eo—L— gy EBEEM 1-3-1 5 45 A2
ZEH (B2 BRI 1-3-2 5 45 A2
LEH  |2EoL— &Y BEEM 3-4-1 5 45 A3
ZEH (B2 BRI 3-4-2 5 45 A3
2EH  |2Eo—L— &Y EBEEM 3-4-3 6 45 A3
ZEH (B2 BRI 3-4-4 4 45 A3
2EE  |2EoL— gy EEEM 3-4-5 4 45 A3
ZEH (B2 BRI 3-4-6 4 45 A3
2EH  |2Eo—L— &Y EBEEM 4-1-1 6 45 A3
ZEH (B2 BRI 4-1-2 5 45 A3
LEE  |2EoL— gy EBEEM 4-1-3 4 45 A3
ZEH (2B —gY BRI 4-1-4 5 45 A3
LEH |2 Eo L&Y EAEM 4-4-1 5 48 A2
ZEH (2B — &Y ESE 4-4-2 5 48 A2
LEH |2 E— L&Y EAEM 4-4-3 5 48 A2
ZEH (2B — &Y UESE 4-4-4 5 48 A2
LEH |2 Eo— L&Y EAEM 4-4-5 5 48 A2
ZEH (2B — &Y ESE 4-4-6 5 48 A2
LER |SE-L—gY ErEEM 6-1-1 5 48 A3
LER (BB —gY Er R 6-1-2 5 48 A3
LER |SE-L—gY ErEEM 6-1-3 5 48 A2
LER (BB —gY Er R 6-1-4 5 48 A2
2EH  |2E—a— 25 BEEH 5-1-1 5 50 A2
SEEH |SE-a1—4Y > BEEH 5-1-2 5 50 A2
2EH  |2E—a— 25 BEEH 5-1-3 5 50 A2
ZE™ ZE= 21—y BEEEM 2-4-1 5 51 A2
2EH  |2E—a— &Y BEEH 2-4-2 5 51 A2
LEEH  |2E-a1—4Y > BEEH 2-4-3 5 51 A2
2EH  |2E—a— 25 BEEH 3-1-1 5 52 A2
SEEH |SE-a1—4v > BEEH 3-1-2 5 52 A2




RREE

XM Sibiuk4 (70 77
ZE™ ZE= 21—y BEEEM 5 52 A2
ZEM ZE= 21— BEREM 5 52 A2
ZEM ZE=—a—x7 v EIREAM 5 52 A2
ZEM ZE= 21— BEREM 5 52 A2
ZEM ZE=—a—x7 v BEIREAM 5 52 A2
ZEM ZE= 21— BEREM 5 52 A2
ZE™ ZE=—a—x7 v EIREAR 5 52 A2
ZEM ZE= 21— BEREM 5 52 A2
ZE™ ZE= 21— %7 BERE 5 55 A2
ZEM LEZ 21— &7 ERE 2 5 55 A2
ZE™ LEZ 21— & U ERE 3 5 55 A2
ZEM LEZ 21— 27 EKRE 4 5 55 A2
ZE™ LEZ 21— & ERE 5 3 55 A2
ZEM SEZ 21— &7 EKREM 6 3 55 A2
ZEM ZE= 21— VEBYEHT 7 3 55 A2
ZEM SEZ 21— &7 EKRE 8 3 55 A2
ZE™ LEZ 21— & ERE 9 3 55 A2
ZEM SEZ 21— &7 EKREM 10 3 55 A2
ZEM ZEZ 21— X7 U BEREH 11 3 55 A2
ZEM SEZ 21— &7 EKRE 12 3 55 A2
fEEH  |fRME 2 T b 1 5 42 A3
FEm  |FREE 2 TX— b 2 5 45 A3
fEEH  |fRME 2 T b 3 5 50 A3
FEm  |FRIRARET - b 1 5 51 A2




